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Question Number : 1 Question Id : 92775911337 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Arrange the given words in the sequence in which they occur in the dictionary.

1. LAPTOP

2. LEOPARD

3. LASER

4. LANGUAGE
5. LIPSTICK

Options :

1. ¥ 41325
2. % 43215
3. % 12345



4. = 23451

Question Number : 1 Question Id : 92775911337 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
few T wreal &1 39 o H A afRid o o 0 § 3 eI B g B

1. LAPTOP

2. LEOPARD

3. LASER

4. LANGUAGE
5. LIPSTICK

Options :

1. ¥ 41325
2. % 43215
3. % 12345
4. % 23451

Question Number : 2 Question Id : 92775911338 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the missing term in the following series :

M3X, J8U, G13R,
Options :

1. ®* D150

2. ¥ DI8O

3. * E15P

4. = EI8P

Question Number : 2 Question Id : 92775911338 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



fRafaRad saen & qu ug 1d &e:

M3X, J8U, G13R,
Options :

1. # D150

2. ¥ D180

3. % E15P

4. % E18P

Question Number : 3 Question Id : 92775911339 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the missing term in the following letter series:

ADG, JMP, SVY,  KNQ
Options :
1. ¥ BEH
2. ¥ BHE
3. % ADH
4. ¥ AEG

Question Number : 3 Question Id : 92775911339 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaRad sieR guar & g Ug 31

ADG, JMP, SVY,  ,KNQ
Options :
1. ¥ BEH
2. % BHE
3. % ADH
4, % AEG




Question Number : 4 Question Id : 92775911340 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the missing term in the following letter cluster series :

aa b a ab ba ab ba
Options :

1. ¥ bbabab

2. % bababa

3. % ababab

4. # abbabb

Question Number : 4 Question Id : 92775911340 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad sfeR T Jae & g ug J1d He:

aa b a ab ba ab ba
Options :

1. ¥ bbabab

2. # bababa

3. ® ababab

4. ¥ abbabb

Question Number : 5 Question Id : 92775911341 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is
different from the rest.

Options :

1. # Sania Mirza : Tennis

2. # Viswanathan Anand : Chess
3. # Virat Kohli : Cricket



4. % Sunil Chhetri : Hockey

Question Number : 5 Question Id : 92775911341 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fqu g faswedl # ¥ i wer Ffyd a6 @ 9o g1 gTdilies, U faded g ofiF &1 ke 81 /1 39 fdded &1 9a &< ol 30 ¥ 3(a |
Options :

1. # me

2. % fIYATY 3G - TSl

3. % faR1C DIgdl : fobape

4. »/ﬁ?ﬂ?{%‘aﬁﬁ

Question Number : 6 Question Id : 92775911342 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is
different from the rest.

Options :

1. ¥ Albert Einstein
2. ® JIsaac Newton
3. ¥ Thomas Edison
4. ¥ Vivian Richards

Question Number : 6 Question Id : 92775911342 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f3T U fadenl & 9 o Ue i3 aRich ¥ 90 8 | gTallich, T [dahed o A &1 TRE -Tal 6| 3% fAdhed &I Ia- Hx off 3= J 3@ |
Options :

1. % 3fcec MM

2. % 3Eeieh FeA

3. % YAy TSR




4. ¢ fafeT RErga

Question Number : 7 Question Id : 92775911343 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is
different from the rest.

Options :

1. % ENGAR
2. % TREMO
3. ¥ SLCRO
4. % VILRA

Question Number : 7 Question Id : 92775911343 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feu T fimedl # @ & T (RfYd o A UM &1 BT, T faed 3 diF o1 oRE el ¢ | 39 9 e o1 I8 oY off 310 ¥ 3T B
Options :

1. ¥ ENGAR

2. % TREMO

3. % SLCRO

4. % VILRA

Question Number : 8 Question Id : 92775911344 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is
different from the rest.

Options :

1. ¥ LB:YO
2. % MP:KN
3. % UH:SF



4. ¥ WR:VI

Question Number : 8 Question Id : 92775911344 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T T fawed & 9 & Te A Rid 3 90 § | 810D, Uh [Awed o1 d1F &1 dve 1ol ¢ | 34 [dded &1 78 &3 Sl 37 4 3T |
Options :

1. * LB:YO

2. % MP:KN

3. % UH:SF

4. ¥ WR:VI

Question Number : 9 Question Id : 92775911345 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is related to the third term on the same basis as the second term is related to the first term.

ADJ:YFH :: YRP:?
Options :

1. ® VSQ

2. % XKN

3. % UVM

4. ¥ WTN

Question Number : 9 Question Id : 92775911345 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

39 fAH T BT T B S ik UG ¥ 341 UHR ¥ Yafdd g fo UR ¥ 3R UG Ugd Ug ¥ Haifed g

ADJ: YFH:: YRP:?
Options :

1. ®¥ VSQ

2. % XKN




3. * UVM
4. % WTIN

Question Number : 10 Question Id : 92775911346 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is related to the third term on the same basis as the second term is related to the first term.

Crowd : Men :: Troupe : ?
Options :

1. ¥ Artists

2. % Sheep

3. * Goods

4. # Flowers

Question Number : 10 Question Id : 92775911346 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

39 fAdhed BT 997 B S iR UG ¥ 34T UHR ¥ Yafdd g fo UR ¥ gOR1 UG Ugd Ug ¥ Hafed g
“—ﬂg:w::m:?

Options :
1. ¢ Hl[dR
2. % IS
3. % dYd
4. % hd

Question Number : 11 Question Id : 92775911347 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the pair that is related on the same basis to the pair given in the question.

MDK : RYP :: ?



Options :

1. % NXD : QBH
2. % GMF : FNT
3. ¥ MZL : RUQ
4. % NUL : QSM

Question Number : 11 Question Id : 92775911347 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I SIS BT T B Sl Uy H ) 7S St A 99H YR 9 J&fid B

MDK : RYP :: ?
Options :

1. ¥ NXD:QBH
2. % GMF : FNT
3. % MZL : RUQ
4. ¥ NUL : QSM

Question Number : 12 Question Id : 92775911348 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is related to the third term on the same basis as the second term is related to the first term.

Royal Bengal Tiger : Bangladesh :: Kangaroo : ?
Options :

1. % Belgium

2. ¥ Australia

3. ¥ Argentina

4. % Brazil

Question Number : 12 Question Id : 92775911348 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
39 fAHeT BT 997 B S ik UG ¥ 341 UHR ¥ Yafdd g fo JhR ¥ IR UG Ugd Ug ¥ Hafed g

I T CISTR: SHRATGRT :: HIRe:?
Options :

1. % gfcorgH

2. ¢ 3fieferan

3. % AT

4. % SO

Question Number : 13 Question Id : 92775911349 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, if GLAMOUR is coded as 94, how will SPECTRUM be coded as?
Options :

1. # 120

2.9 123

3. % 125

4. % 110

Question Number : 13 Question Id : 92775911349 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T FT3d BIS W1 H, TG GLAMOUR &1 94 & F0 H $IfSd {1 T 8, A SPECTRUM &1 ¥ Pifsd fobar e
Options :

1. # 120

2.9 123

3. % 125

4. % 110

Question Number : 14 Question Id : 92775911350 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, if farmer is called maid, maid is called thief, thief is called teacher, teacher is called manager, and manger is called
driver, who teaches in a class?

Options :

1. ¥ Manager
2. % Thief

3. % Driver

4. % Farmer

Question Number : 14 Question Id : 92775911350 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T AT P U H, Il fHaM &) TNpmil H8T T 7, B! Bl IR HT T 8, TR P RU&iP Hgl T 8, &P Bl Uy Hel T g,
3R U &l ATeTh el T 3, el H I Urd 82

Options :

1. ¢ UdYh

2. % 9GR

3. ® [

4. % foaH

Question Number : 15 Question Id : 92775911351 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, 'ran tan saw' means '"We are bad', 'tan pic top" means 'good and bad', and 'ran top but' means 'People are good', then
what will be the code of 'and'?

Options :
1. # top
2. ¥ pic
3. % ran
4. % tan



Question Number : 15 Question Id : 92775911351 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

% Afga PlS U ﬁ, 'ran tan saw' DI C’rf?f% "We are bad', 'tan pic top" PI G{Q‘f% 'good and bad', 3R 'ran top but' I 3‘[‘&% 'People are good', ar
'and' T HIS FT N ?

Options :

1. * top

2. % pic

3. % ran

4. % tan

Question Number : 16 Question Id : 92775911352 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, if SOLID is coded as 39-31-25-19-9, how will LIQUID be coded as
Options :

1. #® 23-19-33-43-19-9

2. % 25-19-35-43-19-9

3. % 27-21-35-43-19-9

4. % 25-19-36-41-19-9

Question Number : 16 Question Id : 92775911352 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U A Brs Wt H, afe SOLID B 39-31-25-19-9 & =0 H Pifed fobar a1 8, @Y LIQUID i & ¥U U pifsd
foar e |

Options :

1. # 23-19-33-43-19-9

2. ¢ 25-19-35-43-19-9

3. % 27.21-35-43-19-9

4. % 25.19-36-41-19-9




Question Number : 17 Question Id : 92775911353 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If in a certain code, FEAST is coded as &*%$#, and LIFE is coded as +@&*, then what will be code for "STEAL"?
Options :

1. % $#*&+

2. % *0H+&

3. % $H@%+

4. $H %+

Question Number : 17 Question Id : 92775911353 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gfe U AT PIS B, FEAST B &*%$# & 0 § SIfSd fa1 1 8, 3R LIFE B +@&* & TU | Pifsd fbar T g, @ "STEAL" & forg
DHIS T I

Options :

1. * $#*&+

2. 8 kot g

3. % $H@%+

4. & $H* %+

Question Number : 18 Question Id : 92775911354 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If Rohan says, "Manish's father is the only son of my father", how is Rohan related to Manish?
Options :

1. * Son

2. ¥ Father

3. ®# Grandfather

4. * Brother

Question Number : 18 Question Id : 92775911354 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

gfe g Hedl g, "HAIY BT T TR fOdT &1 shald se1 3", A AN T Y e fdd g2
Options :
L%
2.« U
3. # qlal
4. % YT

Question Number : 19 Question Id : 92775911355 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a college, six subjects were available for graduation, of which only three had to be selected under the following condition:
One who selects Maths had to select Physics also and vice versa. One who select maths cannot select Computer.

One who selects Hindi or Bengali cannot select French.

If a student selects French as one of his subject, then other two subjects can be:

Options :

1. % Hindi and Bengali
2. % Maths and Computer
3. ¥ Bengali and Physics
4. ¥ Maths and Physics

Question Number : 19 Question Id : 92775911355 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HeTfdead |, Wiae & ot o8 favy Suasy 3, Sd 9§ Had i &1 9= FufalRad 2d & dgd far Sm o
ST 70T BT T T I et Ht AT BT SIR 39k faudial

il TIOTd T 99 Rl § 98 SR Bl I gl B ol g

St f&t a1 STTTelt BT 9 Rl ©, 98 Thd ol I -] hR Jhdl g

gfe oI5 B 3UA fav & ®u H 4 &1 997 SRl 7, df 39 o fAvd 81 Iohd &

Options :

1. % fgdt 3R st




2. # O 3R R
3. % TR 3R Hifde!
4.  TIOIT 3R Hifaapt

Question Number : 20 Question Id : 92775911356 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If Pawan is taller than Ram, Rahul is shorter than Pawan, Sohaib is taller than Tarun but shorter than Ram, then who among them is the tallest?

Options :
1. # Tarun
2. % Ram
3. % Sohaib
4. ¥ Pawan

Question Number : 20 Question Id : 92775911356 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
g Ta 9 9 ST 7, g U U BTl §, Uied a0 I Ga § IRg W I BIeT 8, I 378 I S Iy a1 82

Options :
1. % d2ul
2. % H
3. % i
4. ¥ Uddq
General Ability2
Group Number : 2
Group Id : 927759466
Group Maximum Duration : 0
Group Minimum Duration : 0

Show Attended Group? : No



Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No
General Ability2

Section Id : 927759492

Section Number : 1

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1

Sub-Section Id : 927759585

Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 92775911357 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

There are fifteen boys in a row facing north. Subham is standing at 11th position from the right side. Roshan is standing at 9th position from the
left side. Mohan is standing in between Subham and Roshan. How many boys are standing to the right of Mohan?

Options :
1. ® 10
2.¥°8
3. % 12
4. %5

Question Number : 21 Question Id : 92775911357 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



SR P AR TH I H Ugg TSd ¢ | YHA TN AR 11d A W TS 7 | I 975 3R F 99 R W TST 5 | Hig" JHA R AT & o
A @eT g | Higd & gIfeq 3R fordd A8 TS 32

Options :

1. % 10

2.¥8

3. % 12

4. %5

Question Number : 22 Question Id : 92775911358 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In this question, two statements have been given followed by two conclusions numbered I and II. Assuming that all information in the statement
is true, analyse the two conclusions together and determine whether any of them logically and definitely follow(s) from the information given in
the statement.

Statement : All tom are jerry. Some jerry are oggy.
Conclusions:
I. Some oggy are tom.

II. No oggy is tom.
Options :

1. % only I follows

2. % only II follows

3. ® both I and II follows
4. ¥ Either I or II follows

Question Number : 22 Question Id : 92775911358 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SHUY T, I HYF AU L &, o a1g & fsepdl 1 31 11 feu 78 § | 9% AMd gU 6 oy & 9aft e 9 &, <1 sl o1 U A1y
fIReIyor HX SR FeiRa B [ 1 HU= T < 715 SR 8§ ¥ B off difes 0 F iR Fid ©U J 38R0 SR |




HYF: Gt A SR 81 $B SR S B
frpu:

L. $S 3T oRT g

111 $S M eI |

Options :

1. % $Had | IR0 HRAT §

2. % Had I 3IERU HT §

3. % [ 3R I G AR a’d §
4. TT1T111 SR FRAT 8

Question Number : 23 Question Id : 92775911359 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In this question, a statement has been followed by two assumptions numbered I and II. You have to decide which of the assumption is implicit.

Statement : Subham has applied in the bank for a loan of Rs. 2,00,000 by mortgaging his land to the bank for a period of 10 years.
Assumptions:
I. Bank has a practice of sanctioning a loan of Rs. 2,00,000 and above.

II. The bank accepts the land as collateral security against such loans.
Options :

1. % Only I is implicit

2. % Only II is implicit

3. ¥ Both I and II are implicit

4. # None is implicit

Question Number : 23 Question Id : 92775911359 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



YUY, B F §1¢ o YRUME 1 3R 11 S 772 § | 31! I8 79 31 § foh i I yron fAfga B
HYF : QYA T 10 TY Pt A & fo1T 3ot T &) o H FRE! I@HR §& T 2,00,000 TAT & F0T & T 31de fHar B
WlTQ:

I §% T 2,00,000 TUT 3R I HfYPH BT HUT Wipd B Pt YA 5|
I1. 9 U FH0T & e Uiy &) Juiffes qRem & 9§ WHR axar g |

Options :

1. % Bag1fAfgas

2. % Haq nfAfea g

3. ¢ 3R gH fAfed 8
4. % o N ART T8

Question Number : 24 Question Id : 92775911360 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In this question, a statement has been followed by two arguments numbered I and II. You have to decide which of the argument is a strong
argument.

Statement : Should handloom industries be encouraged in villages?
Arguments:
I. Yes. Rural people are genius.

II. Yes. This would solve the problem of unemployment to a certain extent.
Options :

1. % Only I is strong

2. % Only II is strong

3. # Both I and II are strong

4. % Neither I nor II are strong



Question Number : 24 Question Id : 92775911360 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A UY H, HYT P §IC ¢l do 1 3R 11 AT T ]| 3TUD! T8 T9 =1 & [ I AT dh Aolgd db §

DY T T7dl H gYDYT JeI bl Ul d fobar S =nfee?
db:

1. 11 wreftor & wfar=meh 7 |

IL. BT 399 $© 8¢ aP SRISNRI & THKT BT FHIYH g1

Options :

1. % Had [ qo9d &

2. ¢ Had 11 ASEd §

3. % 1 3R 11 3 A9ed §
4, % F1ARTE 11 HEd &

Question Number : 25 Question Id : 92775911361 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In this question, a statement has been given followed by two conclusions numbered I and II. Assuming that all information in the statement is
true, analyse the two conclusions together and determine whether any of them logically and definitely follow(s) from the information given in the
statement.

Statement : Onion prices are rising in the market.
Conclusions:

I. Earlier, onions were available at a cheaper price.
II. People cannot eat onions.

Options :

1. ¥ Only I follows

2. % Only II follows

3. ¥ Both I and II follows



4. % Neither [ and II follows

Question Number : 25 Question Id : 92775911361 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A UY H, T FHyA foar mar ¢ o a1 &f e 1 3R 11 3T 7Y § 1 I8 HHd U fob o B It e R 9 |, & sl &1 U 1Y
fIRayor &% SR FuilRd B {6 T U= T < 715 SR # ¥ B off difthes U § iR FfYd ©U J S ERu SR |

HY: TR H &Sl &1 Jed 9¢ BT 3 |
AP

1. Ugd, TSl Id o R IUds Y|

1. AN &S g} & qehd |
Options :

1. ¥ $HId | IR0 FRAT §

2. % Had I IRV HRT §

3. % 1 3R 11 G SER0 PR §
4. % T1RAG 1 AGd §

Question Number : 26 Question Id : 92775911362 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which two signs should be interchanged to make the equation given below mathematically correct?

49 -7x5+19+55=-1
Options :

1. # xand +

2. % +and -

3. % ~and +

4. % xand -

Question Number : 26 Question Id : 92775911362 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

e e U HIHR0 &1 el S99 o [ofd fob &l gl &l U 0 I IRER deaHl diigd?

49-7x5+19+55=-1
Options :

1. % x 3R+
2. ¢+ 3R -
3. % = 3R+
4 % x 3R -

Question Number : 27 Question Id : 92775911363 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the missing term in the following number series:

2,12,36,80, ,252
Options :
1. ¥ 150
2. % 145
3. % 130
4. % 195

Question Number : 27 Question Id : 92775911363 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeRad T gaar # qu ug 1d &

2,12,36,80, ,252
Options :
1. ¥ 150
2. % 145
3. % 130




4. % 195

Question Number : 28 Question Id : 92775911364 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is related to the third term on the same basis as the second term is related to the first term.

1233 : 137 :: 3456 : ?
Options :
1. #* 119
2.9 192
3. % 145
4. % 160

Question Number : 28 Question Id : 92775911364 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

39 fadhed &1 97 B N AR U ¥ 34T IR I Yfad g fo YR ¥ IR U Ugd Ug ¥ aiferd g

1233 : 137 :: 3456 : ?
Options :
1. ® 119
2.% 192
3. % 145
4. % 160

Question Number : 29 Question Id : 92775911365 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ashish was born two years after his mother's marriage. His father is five years elder than his mother but 25 years older than Ashish who is 10
years old. At what age did his father get married?

Options :
1. ¥ 23 years



2. % 33 years
3. % 35 years
4. % 25 years

Question Number : 29 Question Id : 92775911365 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1.¥ 2335

2. % 3399

3.% 3599

4. % 259

Question Number : 30 Question Id : 92775911366 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following Venn diagrams best represents the relationship between doctors, dentists and males?
Options :

1. %

2.¥



4, %

Question Number : 30 Question Id : 92775911366 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFraffad 7 & o1 I1 97 3 Rife !, <d Rife ! 3R 738 & d & Tt ) Jad 33T 32T 82

Options :

Qo

Question Number : 31 Question Id : 92775911367 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



In the following figure, triangle represents shirts, rectangle represents red, circle represents pockets. How many shirts are there that are not red?

7
B 10 N3
12 11
Options :

1. 24

2. % 15

3. % 20

4. % 30

Question Number : 31 Question Id : 92775911367 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
E@@Hwﬁﬁ,ﬁﬁasﬁmqﬁﬁfﬁaw% 31T el T UfATifAied T 8, I 9 BT Uil Bl g | foba 2 & o dra
?

A
15 |9
B 10 M3
12 11
Options :
1. ¥ 24
2. % 15
3. % 20
4. % 30

Question Number : 32 Question Id : 92775911368 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The given Venn diagram shows the number of students in a class who carry pens, pencils and erasers. There are 100 students in the class. How
many of these students carried only two objects?



Pencils Pens

o
(SN

Erasers

Options :
1. % 26
2. % 33
3. % 35
4.9 32

Question Number : 32 Question Id : 92775911368 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
faU U 37 3MRa A U Haf # S o T-AT ST 741 8 S o, U SRS A € | H&TH 100 DF 8 | 3790 I fba o= 3 Had
g3l &I Iy AR g2

i ey

2
A
A

Options :
1. % 26
2. % 33
3. % 35



4.4 32

Question Number : 33 Question Id : 92775911369 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is related to the third image on the same basis as the second image is related to the first image.

® ®
)0 H0) X0 i Rl A T R
@ @ + | X

Options :
X | +
B | #
1. %
® | #
X | +
2. %
+ | #
X | &®
3.¢




Question Number : 33 Question Id : 92775911369 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

39 fAdhed &1 997 B S de] Bf J I TR F Faiftrd g o TR ¥ garl ia ugel 8fd § Tl |

® ®
5) %0 1 0) %6 | R A A By
® @ + | X

Options :
X | 4+
& | #
1. ®
® | #
X | ¥
2. %
+ | #
X | &
3. ¢




Question Number : 34 Question Id : 92775911370 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the missing figure in the following matrix.

9 16 25

20 | 265 | ?

Options :
1. % 625
2. % 134
3. % 125
4.+ 634

Question Number : 34 Question Id : 92775911370 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frofafRed sregg o g siefa I &1



90 | 265 | 7

Options :
1. # 625
2. % 134
3. % 125
4. ¥ 634

Question Number : 35 Question Id : 92775911371 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following options is the wrong figure in the series?

S~
A B c D
Options :
1. #® Image A
2. % Image B
3. # Image C
4. ¥ Image D

Question Number : 35 Question Id : 92775911371 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

frafafad @ 9 o O fadwed sRaen & 7Tad spid |2

S~
A B C D
Options :
1. % BfdA
2. % BfdB
3. % BfdC
4. BAD

Question Number : 36 Question Id : 92775911372 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following answer figure completes the series of the question figure?

v R|R T| T L
?
L T|V L| R Vv
Options :
L R




L v
2. v LT B
L Vv
3 % R T
L v
LT R

Question Number : 36 Question Id : 92775911372 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad # 9 o T SR SHid Ue 3pid o1 Raa & ORI HReT 82

V R|R i L

L T|V L| R Vv
Options :




L R
N
| ® T v
L v
> o LT R
L Vv
3 % R i
L A

Question Number : 37 Question Id : 92775911373 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Two positions of a regular dice are shown below. Which number will appear on the face opposite to the face with the number 3?



4 2

Options :
1.9 1
2. %2
3.% 6
4. % 4

Question Number : 37 Question Id : 92775911373 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T fFrafid Uk 1 3 fRufaar R fears 8 8 | 9% 3 91d had & f[AuRid hae W i It e fewrs

3 3

4 2

Options :
1.¥1
2. % 2
3.% 6
4. % 4

Question Number : 38 Question Id : 92775911374 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following answer figures can be combined with the question figure to complete it?



*
¥+ % % Q-
*
¥ ¥ ¥
¥ X X ¥ % %
* *
¥ Kk KK (KKK
* -
x ¥ % X ¥ X

Options :

X % ®* % X ¥ % * K ¥

* N % * y
* /% #N k¥ *

* 1Ok * * kK K ¥ * * ¥ (k¥
* #* * *® ¥ 7 * *

¥ X ¥ ¥ X ¥k % * k¥
= %® Y
- i <



Question Number : 38 Question Id : 92775911374 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad # 9 o T STR SPHid &1 38 TR B & (18 Uy 3HTd & 1Y SISt o Yahel 82

* %

*

*

%

*
* % %
* % %

* kW

* ¥ #*

b o

*
* 3

)

* * F

*

-
A XEEE

*

*

b

*

-

*




-k**
LN
* k¥ k *
*

* LN
4. ¢\ * *

Question Number : 39 Question Id : 92775911375 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If a mirror is placed on the line MN, then which of the answer figures is the right image of the given figure?

M

Options :




3.¢

Question Number : 39 Question Id : 92775911375 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e T TUUT I AT MN TR QT 1T 7, Al IR 3Mpfd & F o I & 718 snpfa ) w8t sfa g2
M

Options :




3.¢¥

Question Number : 40 Question Id : 92775911376 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following answer figures can be combined with the question figure to complete it?



X X |24
X
O O
O O
Options :
ANANA
O N
1. #
A QA
O O
2. ¢
A A
O
3. %
ANANA
s i I
4. %




Question Number : 40 Question Id : 92775911376 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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X X I ol
X JAN
.
?
O 0O
Options :
ANANA
0N
1. %
O O
O O
2. ¥
A A
O
3. %




ANANA
ok &

General Awarenessl

Group Number :

Group Id :

Group Maximum Duration :
Group Minimum Duration :
Show Attended Group? :
Edit Attended Group? :
Break time :

Group Marks :

Is this Group for Examiner? :

3
927759467
0

0

No

No

0

20

No

General Awarenessl

Section Id :

Section Number :

Section type :

Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :
Section Marks :

Enable Mark as Answered Mark for Review and Clear Response :
Sub-Section Number :

Sub-Section Id :

Question Shuffling Allowed :

927759493
1

Online
Mandatory
20

20

20

Yes

1
927759586
Yes



Question Number : 41 Question Id : 92775911377 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Natya Shastra speaks of Eight Rasas. One of them is Bhayanaka. It translates to
Options :

1. # Love

2. ¥ Fear

3. # Disgust

4. % Sorrow

Question Number : 41 Question Id : 92775911377 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e R 313 I9 HT JUH HRAT 8 | 378 H W Th HIFS ¢ | THHT A g gl
Options :

1. % U7

2. ¥ S

3. % Yull

4. % g9

Question Number : 42 Question Id : 92775911378 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Lotia folk music is associated with which of the following states?
Options :

1. ¥ Rajasthan

2. % Chhattisgarh

3. ®* Goa

4. % Uttar Pradesh

Question Number : 42 Question Id : 92775911378 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Frofafea & 3 forg v 9 difear die difia efia 82
Options :

1. ¥ SR

2. % NG

3. % Tql

4. % JW UK

Question Number : 43 Question Id : 92775911379 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following dance forms is not associated with Goa?
Options :

1. ¥ Talgadi

2. # Fugadi

3. #® Suvari

4. ¥ Tippani

Question Number : 43 Question Id : 92775911379 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafafad @ 9 &1 91 7 =0 Mar ¥ Yefed 781 82
Options :

1. % derrat

Question Number : 44 Question Id : 92775911380 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Dree Festival is celebrated in to ensure a good harvest for the state.

Options :

1. # Karnataka

2. % Kerala

3. % Arunachal Pradesh
4. * Andhra Pradesh

Question Number : 44 Question Id : 92775911380 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T &} IR AR ST & o I1s9 & fort sreat e YAidd 81 9 |

Options :

1. % HleH

2. % R

3.« 3BT UG
4. % AR YT

Question Number : 45 Question Id : 92775911381 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Demand primarily dependent upon prices of related goods is called

Options :

1. # direct demand
2. # income demand
3. % cross demand

4. * latent demand

Question Number : 45 Question Id : 92775911381 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T =0 Y Hafid aegsil & geai = R A HEI ST g |

Options :




1. ® U& |
2. % N
3.« SIS /i
4. % 3HFad HIT

Question Number : 46 Question Id : 92775911382 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

National Payments Corporation of India, an umbrella organisation for operating retail payments and settlement systems in India, is an initiative of
and Indian Banks’ Association (IBA) .

Options :

1. ¥ Reserve Bank of India

2. % State Bank of India

3. * National Bank for Agriculture and Rural Development
4. # Union Bank of India

Question Number : 46 Question Id : 92775911382 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR YA A, YR & Ge=T YA 3R FHTET JUTelt & e & fore Ueh Ssdl W16 ©, il 3R YR
§% ¥Y B TP Ugd g

Options :

1. ¢ HRarg Rord o

2. % YR ¥e dF

3. % AP Y 3R Il fapry ocp
4. % GO d& ST gfean

Question Number : 47 Question Id : 92775911383 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
As announced in the Budget 2021-22, custom duty on copper scrap was reduced from 5% to
Options :



1. % 3%
2.9 2.50%
3. % 2%
4. % 1.50%

Question Number : 47 Question Id : 92775911383 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2021-22 & oI B UM & IR, BIOR WhY TR AT Yeb 5% B IR AT T |
Options :

1. % 3%

2.9 2.50%

3. % 2%

4. % 1.50%

Question Number : 48 Question Id : 92775911384 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following statements is incorrect?

Options :

1. #® Personal Income is the total income received by the individuals of country from all sources before direct taxes.

2. ¥ Net Domestic Product (NDP) is the total market value of all final goods and services currently produced within the domestic territory of a
country in a year.

3. # Gross National Product measured in terms of current market prices is called nominal Gross National Product.

4. ® Disinflation is a situation of decrease in the rate of inflation over successive time period.

Question Number : 48 Question Id : 92775911384 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fofafed Sy 8 4 39 91 77ad 62

Options :
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Question Number : 49 Question Id : 92775911385 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

is a force which opposes the relative motion of the two bodies when one body actually moves or tries to move over the surface of
another body.

Options :

1. #® Acceleration
2. % Velocity

3. # Force

4. % Friction

Question Number : 49 Question Id : 92775911385 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TP 901 ¢ ol &l aall o diid ATU1&Idh Tl &1 faR1Y HRl § oId U adl Guk adl o 9des U aRad | 311 Jedl g a1 311 dg- &l
TR Rl & |
Options :
1. ® R0
2. % QT
3. % 9d
4.« YU

Question Number : 50 Question Id : 92775911386 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Vinegar is the source of which of the following acids?
Options :

1. ¥ Acetic Acid



2. % Citric Acid
3. % Amino Acid
4. % Malic Acid

Question Number : 50 Question Id : 92775911386 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
RRep1 Fafafed & 3 fod o o1 9 82
Options :

1. ¢ TR 3wt

2. % Rfch 3

3. % ST ¥

4. % DD o

Question Number : 51 Question Id : 92775911387 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following acids is known as 'oil of vitriol'?
Options :

1. # Hydrochloric Acid

2. % Sulphuric Acid

3. ¥ Nitric Acid

4. % Chloric Acid

Question Number : 51 Question Id : 92775911387 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofafead ol o 9 {68 Heg &1 da Hgl ordl 82
Options :

1. % GIESIKING 3

2. ¢ T¥YDIRT



3. % rEfe® o
4. % FAIND 3+

Question Number : 52 Question Id : 92775911388 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to which of the following laws, the direction of induced electromotive force or induced current is always in such a way that it opposes
the cause due to which it is produced?

Options :

1. ¥ Ohm's Law
2. % Boyle's Law
3. ¥ Lenz's Law
4. % Charles' Law

Question Number : 52 Question Id : 92775911388 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 39 &1y

2. % §7gd &1 fgH

3. ¢ Wl &1 |

4. % 91d & AgH

Question Number : 53 Question Id : 92775911389 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

are also called amphibians of the plant kingdom because these plants can live in soil but are dependent on water for sexual
reproduction.

Options :

1. # Angiosperms



2. % Pteridophytes
3. ¥ Gymnosperms
4. ¥ Bryophytes

Question Number : 53 Question Id : 92775911389 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 3frgddloil

2. % CREIWBIZa
3. % 3Gl
4. ¢ STATHISC]

Question Number : 54 Question Id : 92775911390 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Vetravati is an alternate name of which of the following rivers?
Options :

1. ¥ Beas

2. # Chenab

3. ¥ Betwa

4. ¥ Ravi

Question Number : 54 Question Id : 92775911390 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

aeFadt FafeRad & ¥ forg 1dt 1 depfees 1 g2
Options :

1. %

2. % IAd



3. ¢ Sadl
4. % qqt

Question Number : 55 Question Id : 92775911391 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rohtang Pass is a high mountain pass on the eastern end of the Range.

Options :

1. # Zaskar

2. # Aravalli

3. ¢ Pir Panjal

4. ¥ Western Ghats

Question Number : 55 Question Id : 92775911391 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g o T & Yl BR W Teh 3= Tddiig o3 8
Options :

1. % SR

2. % IRITC

3. ¢ UR Uulre

4. % gfgH aTe

Question Number : 56 Question Id : 92775911392 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The deepest point of which of the following oceans is in Puerto Rico Trench?
Options :

1. ¥ Atlantic Ocean

2. # Arctic Ocean

3. % Pacific Ocean



4. % Southern Ocean

Question Number : 56 Question Id : 92775911392 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafefad & 9 ford TR &1 9ad TevT Uige Yueia! 7d H 82
Options :

1. ¢ Jcdifcd HENR

2. % IIRYAIT HEHIR

3. % TRM=d HeHTR

4. % S&UTydiy AENR

Question Number : 57 Question Id : 92775911393 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Hindu-Kush, which is an extension of the range runs in Afghanistan.
Options :

1. ¥ Aravalli

2. ¥ Karakoram

3. #® Satpura

4. % Purvanchal

Question Number : 57 Question Id : 92775911393 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f3g-P S, Sl B | qdHTaT P1 fawdR g |
Options :

1. % 3RTac

2. ¢ BHRIBGRA

3. % gdysi

4. % ydiad




Question Number : 58 Question Id : 92775911394 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

When was the Morley-Minto Reforms introduced?
Options :

1. % 1895

2. % 1905

3. % 1890

4. % 1909

Question Number : 58 Question Id : 92775911394 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ATel-e! YR H U= foam a1 U1
Options :

1. # 1895

2. % 1905

3. % 1890

4. 1909

Question Number : 59 Question Id : 92775911395 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following Gupta kings was the first one to issue silver coins?
Options :

1. ¥ Chandragupta I

2. % Samudragupta

3. # Skandagupta

4. % Chandragupta II

Question Number : 59 Question Id : 92775911395 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

fafeRad T ot # ¥ ford 7 T Ugdl Xoraqarsii & ok} faar ot 2
Options :

1. % I |

2. % I

3. % Wl

4. TEE I

Question Number : 60 Question Id : 92775911396 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Chandragupta Maurya of the Maurya Dynasty was succeeded by
Options :

1. ¥ Bindusara

2. % Ashoka

3. ® Brihadratha

4. ¥ Dasharatha

Question Number : 60 Question Id : 92775911396 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A oG & IS A GRT STRaAd! g Tl
Options :

1. ¥ f[gaR

2. % 3

3. ® dgay

4. % qRRY
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Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No

General Awareness2

Section Id : 927759494
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 927759587
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 92775911397 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following wrote Priyadarshika, Ratnavali & Nagananda?
Options :

1. # Chandragupta

2. ¥ Harshavardhana

3. % Skandagupta

4. * Kumaragupta



Question Number : 61 Question Id : 92775911397 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fofefaa & 3 feam fraeRier, Tarad sik A=< & forar 82
Options :

1. % T

2. ¢ gYadH

3. ¥ bW

4. % PHRI

Question Number : 62 Question Id : 92775911398 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
When did Akbar abolish 'Pilgrimage Tax'?
Options :
1. % 1550
2. % 1567
3. % 1572
4. ¥ 1563

Question Number : 62 Question Id : 92775911398 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3fheR A AT HR D FHI faa U1?
Options :

1. % 1550

2. % 1567

3. % 1572

4. ¥ 1563



Question Number : 63 Question Id : 92775911399 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following Governor Generals abolished Dual Government system in Bengal?
Options :

1. ¥ Lord Warren Hastings

2. # Lord Cornwallis

3. # Lord Wellesley

4. % Lord Robert Clive

Question Number : 63 Question Id : 92775911399 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FAfRId =R SFRal § ¥ forde ST B Gt TRBR RiIved $1 I fosar U1
Options :

1. ¥ @IS aRA gfe™

2. % QAIS DIl

3. % qdle darl

4. % Qs AaC FaZd

Question Number : 64 Question Id : 92775911400 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The headquarters of United Nations Conference on Trade & Development (UNCTAD) is located in
Options :

1. # New York

2. ¥ Geneva

3. # Vienna

4. % London

Question Number : 64 Question Id : 92775911400 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

TG Y ATIR SR AT FHeH BT GBI ARG ]
Options :

1. % i

2. ¢ foar

3. % fagan

4. % qad

Question Number : 65 Question Id : 92775911401 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following won Grammy Awards 2021 for the "Best Pop Solo Performance" category?
Options :

1. ¥ Watermelon Sugar by Harry Styles

2. # Everything I Wanted by Billie Eilish

3. % Yummy by Justin Bieber

4. # Say So by Doja Cat

Question Number : 65 Question Id : 92775911401 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafoiaa 7 § feam wd 9y ua giel gerf 9ot & foe It R 2021 Sitam
Options :

1. ¥ B3 WIS gRI arexAaH IR

2. % foclt smefersr gRT UaiffT or1g aics

3. % SRS dffeR gRT =

4. % SIS dbe gRIG A

Question Number : 66 Question Id : 92775911402 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



'"The Bandit Queen of India' is an autobiography of
Options :

1. % Jayaram Jayalalithaa
2. ¥ Kamala Das

3. % Phoolan Devi

4. # Indira Gandhi

Question Number : 66 Question Id : 92775911402 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

% SfEe B sifw Sfear B MABUT G|
Options :

1. % SIORTH Sracferdl

2. % HHAT QN

3. ¥ o adl

4. % iRy Tiet

Question Number : 67 Question Id : 92775911403 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following was appointed as the next Chief Election Commissioner by the President of India, Shri Ram Nath Kovind in April
20217

Options :

1. # Sharad Arvind Bobde

2. % Sushil Chandra

3. % Nuthalapati Venkata Ramana
4. % Achal Kumar Jyoti

Question Number : 67 Question Id : 92775911403 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofeied & 9 fbd arlid 2021 H YRA o Ayufa i I 14 S GRT ST H&A AT SR o =0 H g fobar mam um



Options :

1. % ¥Rq 3Rfdg dias
2. ¢GRI gl

3. % dAYIfe dexa
4. % 3 $UR I

Question Number : 68 Question Id : 92775911404 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Global energy and industrial majors have joined together to form a new coalition called the India H2 Alliance. The initiative to form the
alliance was begun by the and Chart Industries.

Options :

1. # Adani Enterprises Limited
2. # Tata Consultancy Services
3. ¥ Reliance Industries

4. % Hindustan Unilever Limited

Question Number : 68 Question Id : 92775911404 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fyw Foll 3R ieNfes st Sufal 3 frde: 3feur H2 TIHY A T 1 TS s e g1 8 | TSEe g4 3 Ugd
3R T1E FEAN GRTYE Bt T3 A

Options :

1. % 3CH SexuTso fafiies

2. % TTe] e Ol Iida

3. ¢ Ry Ssw

4. % fgxam gffaaR faftics

Question Number : 69 Question Id : 92775911405 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The Artificial Intelligence (AI) for Agriculture Hackathon, launched on World Water Day, was begun by , MyGov India and Hindustan



Unilever Limited to improve Artificial Intelligence solutions in the field of Agriculture.
Options :

1. # Microsoft

2. % Google

3. # Facebook

4. % Reliance

Question Number : 69 Question Id : 92775911405 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3% ot foad R & &1 T2 FHY gHU & o FHH i, FN &85 ¥ HH0 i i & 9gaR 991 & forg , HTSTa 38T
3R fEgeam gRferaR faftics gr1 e &1 78 ot

Options :

1. % ATSHNGS

2. ¢ A

3. % lhagd

4. % Radq

Question Number : 70 Question Id : 92775911406 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Government of India approved Rs 50 crores to develop an all-weather ROPAX in in April 2021.
Options :

1. ¥ Odisha

2. ® Kerala

3. ¥ Maharashtra

4, ¥ West Bengal

Question Number : 70 Question Id : 92775911406 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR WHR 7 30 2021 H T 3T Ja AU fIHRId H3A & T 50 FHRIS TUT R fFU 3|




Options :

1. ¢ 3fifg=m

2. % A

3. % HeRTY

4. % Ui ST

Question Number : 71 Question Id : 92775911407 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The National Aeronautics and Space Administration and SpaceX are set to launch astronauts to the International Space Station on World
Earth Day on 22nd April 2021.

Options :
1. % 6
2.% 8
3.%2
4.9 4

Question Number : 71 Question Id : 92775911407 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

R W U W TSR 3R THURT 22 30d 2021 P fay gedft faay W orRigha sraRe e o BlECIEAKIE|
EZSEARINERINE

Options :
1. % 6
2. % 8
3.% 2
4. ¥ 4

Question Number : 72 Question Id : 92775911408 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The Government has agreed to deliver the first regimental set of S-400 Triumf SA-21 Growler Air Defence System to India in April



2021.
Options :

1. # Chinese
2. ¥ German
3. % Russian
4. % British

Question Number : 72 Question Id : 92775911408 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
WRBR 7 3T 2021 H $-400 T SA-21 MR TR FShy Rew &1 ugan Yomed Ve YR &1 & & o TgHd g3 §
Options :
1. ®% o
2. % S
3. ¢ =4I
4. % fgfeg

Question Number : 73 Question Id : 92775911409 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following features of the Indian Constitution was not borrowed from United States of America Constitution?
Options :

1. #* Fundamental Rights

2. % Independence of Judiciary

3. % Impeachment of President

4. ¥ Parliamentary Privileges & Bicameralism

Question Number : 73 Question Id : 92775911409 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
YR Hfayr ot FRgfeiad faRivaret O 9 fod dgdd Isa 3mfeT o Sfaur I IUR =61 form mar ur

Options :



1. % Mferep PR

2. % GIUIfIhT i Xad=Adl

3. % YIS HIHANT

4, ¢ SHIY faRIVIYHR Td fgge (urferarcd! fifdasy Us semrifers)

Question Number : 74 Question Id : 92775911410 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following Parts of the Indian Constitution deals with Official Language?
Options :

1. ® XVI

2. % X1

3. ¥ XVII

4. % X

Question Number : 74 Question Id : 92775911410 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR Hfaer & FHafaRad U & 9§ $IF I IorHT 3 Hefid 82
Options :

1. % XVI

2. % XI

3. ¥ XVII

4. % X

Question Number : 75 Question Id : 92775911411 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A list of ten fundamental duties was included in the Indian Constitution by the Amendment.
Options :

1. # 40th



2. % 42nd
3. % 44th
4. % 52nd

Question Number : 75 Question Id : 92775911411 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR Gfae o UMY gRT & HIfdd Beicdl BI gt e Bt 713 |
Options :

1. % 40d

2. ¥ 424

3. % 449

4. % 529

Question Number : 76 Question Id : 92775911412 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

For an individual to qualify for election as President of India, he/she must have completed the age of years.
Options :

1. ¥ 35

2. % 30

3. % 40

4. % 45

Question Number : 76 Question Id : 92775911412 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YRd & JFUTT &b U H GG & T Sf&dl U A & g, I8 Iy BT g I B gRR|
Options :

1. ¥ 35

2. % 30



3. % 40
4. % 45

Question Number : 77 Question Id : 92775911413 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ajay Singh has been re-elected as the President of Federation of India on February 3, 2021.
Options :

1. % Tennis

2. % Chess

3. % Hockey

4. ¥ Boxing

Question Number : 77 Question Id : 92775911413 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3oy fig &1 3 BRaRY, 2021 B HRAT TERY & e & 9 A O J AT I 3|
Options :

1. % ¢frg

2. % YA

3. % glol

4. I AT

Question Number : 78 Question Id : 92775911414 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following states will be hosting the second Khelo India University Games- KIUG later in 2021?
Options :

1. % Kerala

2. ¥ Karnataka

3. # Tamil Nadu



4. # Telangana

Question Number : 78 Question Id : 92775911414 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraferiad wroal & ¥ @ 2021 H 918 & Qa! fear gRaRid T - KIUG &1 ASaHT S
Options :

1. % B

2. & BHICH

3. ®% e g

4. % AT

Question Number : 79 Question Id : 92775911415 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following became the first batsman to smash 350 sixes in the Indian Premier League (IPL) on 12th April 2021?
Options :

1. # AB de Villiers

2. ¥ Mahendra Singh Dhoni

3. % Chris Gayle

4. # Virat Kohli

Question Number : 79 Question Id : 92775911415 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FafaRad o 9 S 12 30 2021 B $fea R A & 350 SaP T AT U5 Jeeiarsl a7
Options :

1. % dl S faferasd

2. % Hgg g Yt

A CRI]

4. % foRre Piga



Question Number : 80 Question Id : 92775911416 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following countries will host 2023 Men's Boxing World Championships?
Options :

1. ¥ Uzbekistan

2. % Germany

3. % United States of America

4. % Russia

Question Number : 80 Question Id : 92775911416 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrafafad 5 A & 91 <= 2023 YN Habarel Ay UTAIRId &1 Astar S
Options :

1. ¢ Jedlfb &

2. % FHA

3. % Igdd T 3ARBT

4, % =Yg
Arithmetic Abilityl
Group Number : 5
Group Id : 927759469
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20

Is this Group for Examiner? : No



Arithmetic Abilityl

Section Id : 927759495
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 927759588
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 92775911417 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The LCM of two numbers is 15246. If their HCF is 2 and one of the numbers is 126, find the other number.
Options :

1. % 124

2.9 242

3. % 400

4. % 120

Question Number : 81 Question Id : 92775911417 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& TS BT AYTH THUGA® 15246 & | TS ST HEqH THTAAS 2 § 3R Sersfl & § TH 126§, df gas! T J1d B |
Options :

1. % 124

2.9 242




3. # 400
4. % 120

Question Number : 82 Question Id : 92775911418 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the number of even numbers between 24 and 176.
Options :

1. %* 70

2. % 24

3.¥ 75

4. % 40

Question Number : 82 Question Id : 92775911418 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
24 3R 176 % a1 TH AT J1d Br|
Options :

1. ® 70

2. % 24

3.¥ 75

4. % 40

Question Number : 83 Question Id : 92775911419 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find two natural numbers whose sum is 75 and the least common multiple is 50.
Options :

1. ¥ 25 and 50

2. % 15and 25

3. % 5and 10

4. % 50and 75



Question Number : 83 Question Id : 92775911419 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

&l UM TR AT B, oranT aiT 75 § SR oy gHIad® 50 5
Options :

1. ¥ 25 3R 50

2. % 15 3R 25

3. % 53R 10

4.% 50 3R 75

Question Number : 84 Question Id : 92775911420 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the number of times the number 3 appears when you write down the numbers from 1 to 100?
Options :

1. ¥ 20

2. % 40

3. % 125

4. % 25

Question Number : 84 Question Id : 92775911420 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

S 31T 1 100 Teb T et & ot e 3 bl aR Uebe BXell 2, 98 1d 2
Options :

1. ¥ 20

2. % 40

3. % 125

4. % 25



Question Number : 85 Question Id : 92775911421 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The average of the first 10 odd numbers is:
Options :

1. # 11

2.% 10

3. % 17

4. % 21

Question Number : 85 Question Id : 92775911421 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ugell 10 fawm dwmsff &1 ofad 6:
Options :

1. % 11

2.9 10

3. % 17

4. % 21

Question Number : 86 Question Id : 92775911422 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The average salary of 50 workers in a factory was Rs. 350. Five new workers with salaries in rupess 250, 300, 320, 350 and 400 were employed.
What would be the new average salary?

Options :

1. % Rs.300

2. ¥ Rs.347.64
3. % Rs.400.27
4. % Rs.247

Question Number : 86 Question Id : 92775911422 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

TP HREM H 50 HHD! BT ST aa- 350 BUT ATI 250, 300, 320, 350 3R 400 FUY H I Tt Ui =TT YfHh| B! FAgedt fovam war o1 | a1
3Td I T I

Options :

1. % 300 %UT

2. ¥ 347.64 30T

3. % 400.27 30U

4. % 24741

Question Number : 87 Question Id : 92775911423 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In case A, an article is marked up by 20% and discount of 10% is offered. In case B the article is marked up by 30% and discount of 15% is
offered. From Case A to Case B the profit increase by

Options :
1. * 15%
2. % 17.25%
3. % 25%
4, ¥ 31.25%

Question Number : 87 Question Id : 92775911423 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AT A B, T I DI 20% db fAfed fHa1 T g iR 10% Pt Fe 1 718 & | AT B T a¥d B 30% b fafed farar mar § 3R 15% @1 ge
&7 B 1 WA A I HIHAT B dh BRI R PR

Options :
1. # 15%
2. % 17.25%
3. % 25%
4.4 31.25%




Question Number : 88 Question Id : 92775911424 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What percentage of numbers from 1 to 30 have 1 or 9 as unit's digit?
Options :

1. * 40%

2. % 25%

3. % 45%

4.9 20%

Question Number : 88 Question Id : 92775911424 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1 9 30 Bt BT & fosa UF=Id H SbTs 3ih & FUH 1 A19 62
Options :

1. * 40%

2. % 25%

3. % 45%

4.9 20%

Question Number : 89 Question Id : 92775911425 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The cost price of 12 pens is equal to the selling price of 10 pens, find the gain percent.
Options :

1. #® 30%

2. % 40%

3. % 25%

4. % 20%

Question Number : 89 Question Id : 92775911425 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

12 HAH S AN Y4 10 S b [dshd T & RIS 8, TTH UF=Id J1d B |
Options :

1. % 30%

2. % 40%

3. % 25%

4. 20%

Question Number : 90 Question Id : 92775911426 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In an election, a candidate secures 30% of the total votes but is defeated by the other candidate by 100 votes. Find out the total number of votes
polled.

Options :
1. ¥ 250
2. % 300
3. % 200
4. % 150

Question Number : 90 Question Id : 92775911426 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS 14 B, Th ITHIGIR A Al BT 30% TIRIA Bl § Aidh gax SHIGAR gRT 100 ol I R S & | faT T4 Tl &t o =T A
B

Options :

1. ¥ 250

2. % 300

3. % 200

4. % 150

Question Number : 91 Question Id : 92775911427 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
20% of 150% of 0.5% of X 1s 36. Find X.
Options :

1. ® 3600

2. % 2400

3. % 36000

4. % 24000

Question Number : 91 Question Id : 92775911427 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

X & 0.5% BT 150% BT 20%, 36 & | X J1d DI
Options :

1. % 3600

2. % 2400

3. % 36000

4. % 24000

Question Number : 92 Question Id : 92775911428 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A man purchases an item for Rs. 100. If he sells it at a 10% profit, find his selling price.
Options :

1. ¥ 110

2. % 125

3. % 131

4. % 140

Question Number : 92 Question Id : 92775911428 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS fad a%g 1 100 TUY H WadT g | TS T8 T 10% ATH TR S9d1 8, ITHT [ashd Jed I1d B |




Options :
1.¥ 110
2. % 125
3. % 131
4. % 140

Question Number : 93 Question Id : 92775911429 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A fruit vendor recovers the cost of 30 mangoes by selling 15 mangoes. Find his percentage profit.
Options :

1. ¥ 100%

2. % 88%

3. % 50%

4. % 75%

Question Number : 93 Question Id : 92775911429 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP Bd faghdT 15 3 9T 30 TH & AN IS BT § | ITBT Ay UfaId J1d B |
Options :

1. % 100%

2. % 88%

3. % 50%

4. % 75%

Question Number : 94 Question Id : 92775911430 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

By selling one article for Rs. 450, a person has a loss of 10%. For getting a profit of 10%, what must be its selling price?
Options :

1. % Rs.500



2. #® Rs.600
3. ¥ Rs.550
4. % Rs.700

Question Number : 94 Question Id : 92775911430 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

450 3T N U I STHR, fad B 10% P &I BT &1 10% T ATH U 3 & oIg, TTH1 feh! Yo 1 g1 A1fey?
Options :

1. # 500 %49

2. % 600 %497

3. % 550 20U

4. % 700U

Question Number : 95 Question Id : 92775911431 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Two numbers are in the ratio 5:8 and the difference between them is 24. Find the numbers.
Options :

1. ®# 16 and 40

2. ¥ 40 and 64

3. % 20 and 44

4. % 30 and 54

Question Number : 95 Question Id : 92775911431 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

&l TATE 5:8 P 30T H § 3R Ik aiid BT 3R 24 81 T 1 B |
Options :

1. % 16 3R 40

2. ¥ 40 3R 64



3, % 20 3R 44
4. % 30 3R 54

Question Number : 96 Question Id : 92775911432 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Two numbers have a ratio of 2:7. If each of them is increased by 14, then their ratio becomes 4:7. Find the numbers.
Options :

1. % 7 and 28

2. % 4and 30

3. ¥ 6and 21

4. % 3and 40

Question Number : 96 Question Id : 92775911432 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
&l TS BT T 2:7 § | TS 370 F TS B 14 Y TG ST &, a1 SDT SUTd 4:7 B STl & | e 1 B |

Options :

1. % 73R 28
2. % 43R 30
3.¢ 6 3R 21
4. % 3 3R 40

Question Number : 97 Question Id : 92775911433 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Two car drivers take 3 hours and 4 hours respectively to cover a distance of 650 km from city P to Q. Find the ratio of average speeds of the two
car.

Options :
1. % 7:14
2.9 4:3

3. % 5:21



4. % 4.9

Question Number : 97 Question Id : 92775911433 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& PR ITAB U P J Q TP 650 km B G T B P oY HH: 3 B 3R 4§ A 1 &1 PR BT 3N T BT AT 71 B |
Options :

1. * 7:14

2.9 4:3

3. % 5:21

4. % 4.9

Question Number : 98 Question Id : 92775911434 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A bag contains fifty paise coins, twenty-five paise coins and ten paise coins in the ratio of 2 : 5: 10. If the total amount is Rs. 52, find the number
of coins of each kind.

Options :

1. # 20,50,100
2. % 410,20
3. ¥ 32,80,160
4. % 10,25,50

Question Number : 98 Question Id : 92775911434 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP o7 H A O & 9%, U= O & g iR o8 U9 & R1adh 2:5:10 & 3I0Td H €1 afE $ot A1 52 IUUE o) TAD THR & [ah|
1 BT 1 DR

Options :

1. * 20,50,100

2. % 410,20

3.9 32,80,160




4. % 10,25,50

Question Number : 99 Question Id : 92775911435 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the present worth of Rs. 132 due in 2 years at 5 percent per annum simple interest.
Options :

1. % Rs.130

2. % Rs.175

3. % Rs.140

4. ¥ Rs.120

Question Number : 99 Question Id : 92775911435 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

5 Tifa=Td aTffer TTURUT I WR 2 99 § ¢4 132 ¥UT &1 IdHH Hed J1d B |
Options :

1. % 130>U¢

2. % 175%U4¢

3. % 140 ®UU¢

4, % 120U

Question Number : 100 Question Id : 92775911436 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Compound interest on Rs. 800 for 2 years is Rs. 82. Find the rate of interest.
Options :

1. * 10%

2. % 14%

3.¥ 5%

4. % 7%



Question Number : 100 Question Id : 92775911436 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
2 99 & faTT 800 ¥UT TR Ahqfes TS 82 FUY ¢ | TS &R I By |

Options :
1. * 10%
2. % 14%
3.9 5%
4. % 7%
Arithmetic Ability2
Group Number : 6
Group Id : 927759470
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No
Arithmetic Ability2
Section Id : 927759496
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20



Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1
Sub-Section Id : 927759589
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 92775911437 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Abhay borrowed Rs. 1000 at 3% p.a. & Rs. 1200 at 7% p.a. for the same duration. He had to pay Rs. 342 in all as simple interest. Find the time.
Options :

1. # 4 years

2. % 7 years

3. % 3 years

4. % 2 years

Question Number : 101 Question Id : 92775911437 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

34T = A Ay & forg ufaas 3% TR 1000 $UT IR AW SR ufdas 7% TR 1200 FUL YR W § | IV R YR S & TG | 342
FYT S U | JHY 1 |

Options :

1. % 499

2. % 79y

3. 398

4. % 29y

Question Number : 102 Question Id : 92775911438 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Divide Rs. 5200 into 2 parts so that the simple interest on the first part for 3 years at 4% p.a. may be equal to the simple interest on the second
part for 5 years at 8% p.a.

Options :



1. ¥ Rs.1200 and Rs.4000
2. % Rs.1000 and Rs.4200
3. % Rs.2500 and Rs.2700
4. # Rs.700 and Rs.4500

Question Number : 102 Question Id : 92775911438 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

5200 TG BT 2 YT H fGUTRTd B dTfes Tfday 4% TR 3 a4 o folT Ugd URT TR ATYRUT TS Uidas 8% TR 5 98 & [Tl GuR I TR &I
YR ST THTHM gl Gbd g |

Options :

1. ¢ 1200 TUT 3R 4000 FUY

2. % 1000 JTT 3R 4200 TUY

3. % 2500 TYT 3R 2700 TTY

4. % 700 BT 3R 4500 TTY

Question Number : 103 Question Id : 92775911439 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Walking at a speed of 3 km/h, a man takes 8 hours to complete a journey. How much time will he require to complete the journey if his speed is 4
km/h?

Options :

1. #* 4 hours
2. % 2.5 hours
3. % 6 hours
4. % 5 hours

Question Number : 103 Question Id : 92775911439 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

%;?r(hﬁwﬁr@raaﬁm,wenatﬁﬁwqﬁwm‘d%wﬁ%l e P! T 4 knv/h § 1 S AT I B o 1o foba11 90
?



Options :
1. % 4%¢
2. % 25€C
3. ¢ 6HcC
4. % 5%C

Question Number : 104 Question Id : 92775911440 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Two trains are running at a speed of 70 kmph and 20 kmph respectively in the same direction. The train running at 70 kmph crosses a man in the
other train in 20 s. Find the length of the faster train.

Options :

1. % 150 m
2. % 240 m

3. % 100 m
4.4 277.78 m

Question Number : 104 Question Id : 92775911440 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

aiﬂ?ﬂ%m@ﬁﬁ?ﬂﬁm 70kmph3m20kmphﬁﬂﬁﬁaﬁﬁ%l70kmphaﬁﬂﬁﬁa@mm20mﬁwm
¥ Ry et &Y UR Felt 1 O TRy ATl Yeel @t s i Y|

Options :

I. * 150 m

2. % 240 m

3. % 100 m

4.% 27778 m

Question Number : 105 Question Id : 92775911441 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A train 300 m long overtook a man walking along the line (in the same direction as the train) at a rate of 4 km an hour and passed him in 30



seconds. The train reached the station in 15 minutes after it had passed the man. In what time did the man reach the station?
Options :

1. * 2 hours

2. % 4.5 hours

3. % 1.5 hours

4. % 2.5 hours

Question Number : 105 Question Id : 92775911441 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

300 m Td! T XA 7 4 km Ul 9 1 R A5 & 1Y I 910 T Afad TSt &) GHH a2 #) &Y 3fares fHar 3R 39 30
Yo U UR R 71| XATST 3EH! Dl YR B & 901G 15 e & W R g | 3TeH! fbd go WIH R Ugan

Options :

[. % 29c

2. % 45€c

3. % 159

4. ¥ 259C

Question Number : 106 Question Id : 92775911442 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Sanjay can do 20% of a work in 10 days. How many days will he take to complete the work ten times?
Options :

1. # 1000 days

2. % 756 days

3. % 687 days

4. ¥ 500 days

Question Number : 106 Question Id : 92775911442 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o 10 faA1 o 1 o7 20 UFIRIT HTH R bl § | & AT B DI IR 3 H 39 fbaq g ai




Options :

1. % 1000 a7
2. % 756 f&
3. % 687 faT
4.+ 500 faA

Question Number : 107 Question Id : 92775911443 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Varsha and Jayanti can do a piece of work in 20 days and Varsha alone can do it in 25 days. In how many days can Jayanti do it alone?
Options :

1. # 75 days

2. # 67 days

3. % 100 days

4. #® 90 days

Question Number : 107 Question Id : 92775911443 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

aut 3R Sl 20 fat B U BTH HR avdll § SR Tu1 31l 25 T T = el § | SRl fopam fit 313 T8 IR Thell 82
Options :

1. % 75f&q

2. % 67fcA

3. ¢ 100 f&A

4. % 90 feA

Question Number : 108 Question Id : 92775911444 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Dev and Tukku can do a piece of work in 56 and 50 days respectively. Dev started the work and leaves after some days and Tukku finished the
remaining work in 25 days. After how many days did Dev leave?

Options :



1. % 27 days
2. % 54 days
3. % 62 days
4. ¥ 28 days

Question Number : 108 Question Id : 92775911444 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 3R TFP HH: 56 3R 50 AT H Th B I TP & | &d A B X 11 3R TS &A1 & 91 B B1S f&a ok gagp 7 25 feAr o
Y HTH R feT| <a = fova g a1 HH |ren

Options :

1. % 27faw
2. % s4feq
3. % g feT
4. ¢ 28f&a

Question Number : 109 Question Id : 92775911445 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A can do a piece of work in 10 days. He works at it for 5 days and then B finishes it in 20 more days. In how many days approximately will A
and B together finish the work?

Options :

1. ¥ 8 days
2. % 5 days
3. # 4 days
4. * 9 days

Question Number : 109 Question Id : 92775911445 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A 10 I T U S R ThdT 81 98 3H WR 5 31 & forg 1 o g iR fohR B 38 iR 20 o # Q1 e 8 | @1 fopaa R f A SR




B U 1Y DHTH TR PN
Options :

1. ¢ gfeT

2. % sfeq

3. % 4faq

4. % ofeq

Question Number : 110 Question Id : 92775911446 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the volume of a right circular cylinder whose radius is 16 cm and height is 10 cm? (Take n=22+7)
Options :

1. % 8561.4 cucm

2. % 74359 cucm

3. ¥ 8045.71 cu cm

4. % 9431.4 cucm

Question Number : 110 Question Id : 92775911446 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP Jai1T 90 (3¢ RTR FATeTEx) HT I F1d B B AT 16 em R SHAT 10 em 8?2 (7=22+7 )
Options :

1. # 8561.4 cucm

2. % 74359 cucm

3. % 8045.71 cu cm

4. % 9431.4 cucm

Question Number : 111 Question Id : 92775911447 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the area of a sphere whose radius is 14 cm? (Take n=22+7)
Options :



1. ¥ 2464 sq cm
2. % 3461.76 sq cm
3. % 4754 sq cm
4. % 2459 sq cm

Question Number : 111 Question Id : 92775911447 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS T BT &THS J1d D ST T 14 km 82 (1=22+7 )
Options :

1. ¥ 2464 sq cm

2. % 3461.76 sq cm

3. % 4754 sq cm

4. % 2459 sq cm

Question Number : 112 Question Id : 92775911448 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A sphere of diameter 13 cm is melted and cast into a right circular cone of height 26 cm. Find the diameter of the base of the cone.
Options :

1. ®* 14 cm

2. % 15cm

3. % 20 cm

4.9 13 cm

Question Number : 112 Question Id : 92775911448 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

13 cm ST & U I B! fUGamdr SITdT 8 3R 26 cm $d1s & gaid WP (U3¢ ARITR HI) H STA1 91l ¢ | UP &b SATUR BT T J1d Be |
Options :

1. %® 14 cm




2. % 15¢cm
3. % 20 cm
4. % 13 cm

Question Number : 113 Question Id : 92775911449 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A solid wooden toy in the shape of a right circular cone is mounted on a hemisphere. If the radius of the hemisphere is 4 cm and the total height
of the toy is 6.2 cm, find the volume of the wooden toy.

Options :

1. ¥ 170.79 cu cm
2. % 180 cucm

3. % 141.42 cucm
4. % 200 cu cm

Question Number : 113 Question Id : 92775911449 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Il Tp RT3 FRITR D) P PR H Ueb 314 DS b Racil bl TeiTel U @1 711 5 | G enne] b1 Brdn 4 em & 3R et b1 et
$TS 6.2 cm ©, Ol APS! P A BT T AT B |

Options :

1. ¥ 170.79 cu cm

2. % 180 cucm

3. % 14142 cucm

4. % 200 cu cm

Question Number : 114 Question Id : 92775911450 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The given pie chart shows the marks scored by a student in different subjects- English, Hindi, Mathematics, Science and Social Science in an
examination. The values given are in degrees. If the total marks were 7200, then find the marks in Mathematics.



Marks in degree

Options :
1. % 700
2. % 800
3. % 1500
4. ¥ 1400

Question Number : 114 Question Id : 92775911450 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fear mar urs = faftrs fowat & ue o1 g1 U T T ofdt o) gwifdr |- T udlen & iUeh, i, mifvra, fagma oik armnfres fagm feu
U O feit 7 81 afe $at 8fd 7200 2, Y 10T H T 8fch 1d B
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Options :
1. # 700
2. % 800
3. % 1500
4. ¥ 1400

Question Number : 115 Question Id : 92775911451 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The following pie-diagram shows the expenditure (in %) incurred in the preparation of a book by a publisher, under various heads.
What is the difference between the angle of pie-diagram showing the expenditure incurred on binding and printing?



Expenditure in book publishing

Options :

1. % 14 degree
2. % 20 degree
3. % 16 degree
4. ¥ 18 degree

Question Number : 115 Question Id : 92775911451 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafiad ur-ema fafird el & dgd, UHIRIe GRT Jid® & daRi # 6T 7T o9 &1 G § (% B
RTegad 3R BUTS IR 811 aTd o9 &1 gRITd UTs-3RE & HI0 H FT 3R 82




Options :

1. % 14fsht
2. % 20 fS
3. % 163
4.+ 18 f&tht

Question Number : 116 Question Id : 92775911452 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The following table shows marks out of 100 for Rahul in different subjects in various years. In which year was his percentage highest?

Year Physics |Chemistry| Maths
2000 a0 &b 70
2001 80 80 T8
2002 80 78 a5
2003 iy 75 76

Options :

1. % 2000

2. % 2003

3. % 2001



4. % 2002

Question Number : 116 Question Id : 92775911452 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraforRaa arferet fafira auf & fafira fawal & wga & faw 100 H 9 v oich 1 gxifcdt 8 1 fore af & IwemT ufawrd waifie um

Ty it  |wafass | e
2000 90 86 70
2001 80 80 78
2002 a0 78 a5
2003 70 75 76

Options :

1. ¥ 2000

2. % 2003

3. % 2001

4. % 2002

Question Number : 117 Question Id : 92775911453 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The given graph shows the population of a country (in crores) in some years. Calculate the approximate percentage increase in population from
2007 to 20009.



m— Year o Linear (Year)
2010 - .

2006 -

- 2003 .

il -

2000 -

1998 - I

1996

- I - 700

People(in crores)

Year

900

Options :

1. ® 28

2. % 26.70
3.9 28.60
4. %270

Question Number : 117 Question Id : 92775911453 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T T T @ ANl & [t SR BT (@RIS! H) SR Bl ST 8 1 2007 H 2009 T ST H SIIHTT U= 3fG &1 701 He |
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Options :
1. % 28

2. % 26.70
3. ¥ 28.60
4. % 27

Question Number : 118 Question Id : 92775911454 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The given graph represents percentage of typhoid cases in India from year 2000-2006. Find the average number of typhoid cases (in %) in India
from year 2000-2006



9.00% - 8 13% 8.20%

o
o g.00%
]
3 7.00%
=
@ 6.00%
j= 19
£ 5.00%
o 4.00%
ﬁ 4.27%
o 3.00% -
-
S  2.00% -
s 1.00%
g &
0.00%
2000 2001 2002 2003 2004 2005 2006
Year
Options :
1. % 6
2. % 697
3.% 74
4. % 6.35

Question Number : 118 Question Id : 92775911454 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

%mﬁ)wqargatfmoo-m%QWﬁa’raw%nmﬂ‘fwuﬁ?zraﬁm%l ¥ 2000-2006 T HRA H 373 SaR b ATHA! D1 3G T
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4.27%%

HiF TR & A (wfoerd #)

2000 2001 2002 2003 2004 2005 2006

Options :
1. %6

2. % 6.97
3.% 74
4. ¥ 6.35

Question Number : 119 Question Id : 92775911455 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The graph shows number of visitors in a party on four consecutive days of the week. On which day there were maximum number of visitors?



—=—-Ladies = Gents
350
300
250
200
150 o

305

100

Number of visitors

50 -

1st Znd 3rd ath
Day

Options :

1. ¥ 2nd day
2. % 3rd day
3. # 4th day
4. ® 1st day

Question Number : 119 Question Id : 92775911455 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ 2 fea
2. % feq
3. % 4yrfaq
4. % 1afeq

Question Number : 120 Question Id : 92775911456 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Marks of all the 50 students of a class in a test is given. Find the mean marks of the class.

Ns: :1 l:lb:r:t:f Marks obtained
20 20
i1 5
10 10
12 12
2 20
Options :

1. % 15



2. % 16.24
3. % 133
4.+ 14.28

Question Number : 120 Question Id : 92775911456 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

T e b Ter 7 gt 50 1 & 3ich T U & | Herm & A1 3ich J1d B |

DHI DI TG | 3 U Pt

20 20

i1 5

10 10

12 12

2 20
Options :
1. ® 15
2. % 16.24
3. % 133
4, ¥ 14.28

General English1

Group Number : 7
Group Id : 927759471
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No

Break time : 0



Group Marks : 20

Is this Group for Examiner? : No
General English1

Section Id : 927759497

Section Number : 1

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1

Sub-Section Id : 927759590

Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 92775911457 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

When new evidence in favour/ of defendant came to light, the judge/ had no choice but to rescind the trial verdict.
Options :

1. * When new evidence in favour

2. ¥ of defendant came to light, the judge

3. * had no choice but to rescind the trial verdict.

4. % No Error

Question Number : 121 Question Id : 92775911457 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

When new evidence in favour/ of defendant came to light, the judge/ had no choice but to rescind the trial verdict.
Options :

1. ¥ When new evidence in favour

2. ¥ of defendant came to light, the judge

3. * had no choice but to rescind the trial verdict.

4. % No Error

Question Number : 122 Question Id : 92775911458 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

In a fit of rage,/ he almost beat/ down her door.
Options :

1. % Ina fit of rage,

2. # he almost beat

3. % down her door.

4. % No Error

Question Number : 122 Question Id : 92775911458 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

In a fit of rage,/ he almost beat/ down her door.
Options :

1. # In a fit of rage,

2. # he almost beat

3. % down her door.



4. % No Error

Question Number : 123 Question Id : 92775911459 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

Many cities in Greece and/ Italy claimed to have possess/ the genuine Trojan Palladium.
Options :

1. % Many cities in Greece and

2. ¥ Ttaly claimed to have possess

3. # the genuine Trojan Palladium

4. % No Error

Question Number : 123 Question Id : 92775911459 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

Many cities in Greece and/ Italy claimed to have possess/ the genuine Trojan Palladium.
Options :

1. * Many cities in Greece and

2. % Ttaly claimed to have possess

3. # the genuine Trojan Palladium

4. % No Error

Question Number : 124 Question Id : 92775911460 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.



A few criterias still had/ to be met for him to qualify/ for the Grandmaster norm.
Options :

1. ¥ A few criterias still had

2. % to be met for him to qualify

3. # for the Grandmaster norm.

4. ® No Error

Question Number : 124 Question Id : 92775911460 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

A few criterias still had/ to be met for him to qualify/ for the Grandmaster norm.
Options :

1. ¥ A few criterias still had

2. % to be met for him to qualify

3. # for the Grandmaster norm.

4. # No Error

Question Number : 125 Question Id : 92775911461 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

Hendrix was one of the very/ few blues guitar players whom Clapton/ admittedly respected and unadmittedly admired.
Options :

1. #® Hendrix was one of the very

2. ® few blues guitar players whom Clapton

3. % admittedly respected and unadmittedly admired.

4. ® No Error



Question Number : 125 Question Id : 92775911461 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

Hendrix was one of the very/ few blues guitar players whom Clapton/ admittedly respected and unadmittedly admired.
Options :

1. % Hendrix was one of the very

2. #* few blues guitar players whom Clapton

3. ¥ admittedly respected and unadmittedly admired.

4. % No Error

Question Number : 126 Question Id : 92775911462 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

(Chose to not offer broth and eggs could have costed him his son's life); but Gandhi's principle and personal belief's were above everything and
everyone else.

Options :

1. # Choosing to not offer broth and eggs would have costed him his sons' life
2. ¥ Choosing to not offer broth and eggs could have costed him his son's life
3. % Chose to not offer broth and eggs costed him his son's life

4. # No corrections required

Question Number : 126 Question Id : 92775911462 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.



(Chose to not offer broth and eggs could have costed him his son's life); but Gandhi's principle and personal belief's were above everything and
everyone else.

Options :

1. #® Choosing to not offer broth and eggs would have costed him his sons' life
2. % Choosing to not offer broth and eggs could have costed him his son's life
3. # Chose to not offer broth and eggs costed him his son's life

4. ® No corrections required

Question Number : 127 Question Id : 92775911463 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

The diabolical plots and the (characters were a run away hit ever since its inception) by the writers.
Options :

1. # characters were a run away hit ever since it's inception

2. % characters were a runaway hit ever since their inception

3. # characters were run away hits ever since their inception

4. ¥ No corrections required

Question Number : 127 Question Id : 92775911463 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

The diabolical plots and the (characters were a run away hit ever since its inception) by the writers.
Options :

1. # characters were a run away hit ever since it's inception

2. ¥ characters were a runaway hit ever since their inception

3. % characters were run away hits ever since their inception

4. ® No corrections required



Question Number : 128 Question Id : 92775911464 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

(The cries of mercy was only but a sham to plead) to the king's forgiving nature, and betray him later.
Options :

1. * The cried of mercy was only a sham to plead

2. ¥ The cries of mercy were but a sham to plead

3. ®* The cries of mercy was but a sham to plead

4. % No corrections required

Question Number : 128 Question Id : 92775911464 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

(The cries of mercy was only but a sham to plead) to the king's forgiving nature, and betray him later.
Options :

1. # The cried of mercy was only a sham to plead

2. % The cries of mercy were but a sham to plead

3. % The cries of mercy was but a sham to plead

4. ¥ No corrections required

Question Number : 129 Question Id : 92775911465 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

The official Moniteur Ottoman denounced his supposed (plan of aiming at the caliphate on collusion) with the sheriff of Mecca.



Options :

1. # plan in aiming at the caliphate on collusion
2. % plan of aiming at the caliphate at collusion
3. ¢ plan of aiming at the caliphate in collusion

4. ® No corrections required

Question Number : 129 Question Id : 92775911465 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

The official Moniteur Ottoman denounced his supposed (plan of aiming at the caliphate on collusion) with the sheriff of Mecca.
Options :

1. # plan in aiming at the caliphate on collusion

2. % plan of aiming at the caliphate at collusion

3. ¥ plan of aiming at the caliphate in collusion

4. % No corrections required

Question Number : 130 Question Id : 92775911466 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with appropriate word.

Very special care should be taken so to proportion the sand as to make a perfectly mixture.
Options :

1. ¥ impervious
2. % obvious
3. % devious

4. % envious

Question Number : 130 Question Id : 92775911466 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with appropriate word.

Very special care should be taken so to proportion the sand as to make a perfectly mixture.

Options :

1. ¥ impervious
2. % obvious

3. # devious

4. % envious

Question Number : 131 Question Id : 92775911467 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with appropriate word.

At times he acted as viceroy in William's absence; at times he led the royal forces to rebellions.

Options :

1. # despise
2. % baptise
3. ¥ chastise

4. ® compromise

Question Number : 131 Question Id : 92775911467 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with appropriate word.

At times he acted as viceroy in William's absence; at times he led the royal forces to rebellions.

Options :

1. # despise
2. # baptise
3. % chastise

4. ¥ compromise



Question Number : 132 Question Id : 92775911468 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with appropriate word.

leads to the downfall of many celebrities and politicians.

Options :

1. ¥ Hubris

2. # Debris

3. % Emphasis
4. #® Synopsis

Question Number : 132 Question Id : 92775911468 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with appropriate word.

leads to the downfall of many celebrities and politicians.

Options :

1. ¥ Hubris
2. % Debris

3. % Emphasis
4. # Synopsis

Question Number : 133 Question Id : 92775911469 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with appropriate word.

Courage, watchfulness, striving for purity, were all necessary in the combat with the forces of evil.
Options :
1. # redundant




2. % incessant
3. * reluctant

4. # compliant

Question Number : 133 Question Id : 92775911469 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with appropriate word.

Courage, watchfulness, striving for purity, were all necessary in the combat with the forces of evil.

Options :

1. # redundant
2. ¥ incessant
3. % reluctant

4. % compliant

Question Number : 134 Question Id : 92775911470 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with appropriate word.

During the of the elder branch of the Han dynasty the Chinese supremacy was weakened, but in A.D.

Options :

1. # sovereign

2. ® consequence
3. % convenience
4. ¥ decadence

Question Number : 134 Question Id : 92775911470 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with appropriate word.



During the of the elder branch of the Han dynasty the Chinese supremacy was weakened, but in A.D.

Options :

1. # sovereign
2. % consequence
3. % convenience
4. ¥ decadence

Question Number : 135 Question Id : 92775911471 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful and grammatically correct sentence.

Her own account of her

P. escape is, as usual, so

Q. was really in any

R. question whether she

S. florid that it provokes the

danger.
Options :
1. # PQRS
2. % PSQR
3. % PSRQ
4. % PRSQ

Question Number : 135 Question Id : 92775911471 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful and grammatically correct sentence.



Her own account of her

P. escape is, as usual, so

Q. was really in any

R. question whether she

S. florid that it provokes the

danger.
Options :
1. ® PQRS
2. % PSQR
3. ¥ PSRQ
4. % PRSQ

Question Number : 136 Question Id : 92775911472 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The question below consist of a set of labelled sentences. Out of four options given, select the most logical order of the sentences which form a
paragraph.

Warren Buffett, in full Warren Edward Buffett, (born August 30, 1930, Omaha, Nebraska, U.S.), American businessman and philanthropist,
widely considered the most successful investor of the 20th century, having defied prevailing investment trends to amass a personal fortune of
more than $60 billion.

P. From the 1960s through the *90s the major stock averages rose by roughly 11 percent annually, but Berkshire Hathaway’s publicly traded
shares gained about 28 percent per year.

Q. Known as the “Oracle of Omaha,” Buffett was the son of U.S. Rep. Howard Homan Buffett from Nebraska.

R. After graduating from the University of Nebraska (B.S., 1950), he studied with Benjamin Graham at the Columbia University School of
Business (M.S., 1951).

S. In 1956 Buffett returned to Omaha and in 1965 took majority control of the textile manufacturer Berkshire Hathaway Inc., turning it into his
primary investment vehicle.



Though Buffett’s success with Berkshire Hathaway made him one of the world’s wealthiest men, he eschewed lavish spending and criticized
governmental policies and taxation that favoured the rich over the middle or lower classes.

Options :

1. # PQSR
2. % PSRQ
3. ¥ SPQR
4. ¥ QRSP

Question Number : 136 Question Id : 92775911472 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The question below consist of a set of labelled sentences. Out of four options given, select the most logical order of the sentences which form a
paragraph.

Warren Buffett, in full Warren Edward Buffett, (born August 30, 1930, Omaha, Nebraska, U.S.), American businessman and philanthropist,
widely considered the most successful investor of the 20th century, having defied prevailing investment trends to amass a personal fortune of
more than $60 billion.

P. From the 1960s through the *90s the major stock averages rose by roughly 11 percent annually, but Berkshire Hathaway’s publicly traded
shares gained about 28 percent per year.

Q. Known as the “Oracle of Omaha,” Buffett was the son of U.S. Rep. Howard Homan Buffett from Nebraska.

R. After graduating from the University of Nebraska (B.S., 1950), he studied with Benjamin Graham at the Columbia University School of
Business (M.S., 1951).

S. In 1956 Buffett returned to Omaha and in 1965 took majority control of the textile manufacturer Berkshire Hathaway Inc., turning it into his
primary investment vehicle.

Though Buffett’s success with Berkshire Hathaway made him one of the world’s wealthiest men, he eschewed lavish spending and criticized
governmental policies and taxation that favoured the rich over the middle or lower classes.

Options :

1. ¥ PQSR
2. % PSRQ
3. ¥ SPQR



4. ¥ QRSP

Question Number : 137 Question Id : 92775911473 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful and grammatically correct sentence.

The old tendency illustrated by the outcome of the revolutionary
P. democratic liberty to succumb

Q. the tendency of merely artificial theories of

R. movements of 1848 was once more in evidence -

S. to the immemorial instinct

of race and race ascendancy.
Options :

1. ¥ RQSP

2. % RSPQ

3. ¥ RQPS

4. % RPSQ

Question Number : 137 Question Id : 92775911473 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful and grammatically correct sentence.

The old tendency illustrated by the outcome of the revolutionary
P. democratic liberty to succumb

Q. the tendency of merely artificial theories of



R. movements of 1848 was once more in evidence -
S. to the immemorial instinct

of race and race ascendancy.
Options :

1. # RQSP

2. % RSPQ

3. % RQPS

4, % RPSQ

Question Number : 138 Question Id : 92775911474 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is similar in meaning (SYNONYM) to the word given below

Disdain
Options :

1. # Withdraw
2. # Acceptance
3. % Admiration

4. ¥ Contempt

Question Number : 138 Question Id : 92775911474 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is similar in meaning (SYNONYM) to the word given below

Disdain
Options :

1. # Withdraw
2. #% Acceptance
3. % Admiration

4. ¥ Contempt



Question Number : 139 Question Id : 92775911475 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is opposite in meaning (ANTONYM) to the word given below

Subjugate
Options :

1. * Modest
2. ¥ Liberate
3. % Vanquish

4. % Colonize

Question Number : 139 Question Id : 92775911475 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is opposite in meaning (ANTONYM) to the word given below

Subjugate
Options :

1. * Modest
2. ¥ Liberate
3. # Vanquish

4. % Colonize

Question Number : 140 Question Id : 92775911476 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is similar in meaning (SYNONYM) to the word given below

Incompatible
Options :

1. # Complementary



2. % Suited
3. ¢ Conflicting

4. % Coerce

Question Number : 140 Question Id : 92775911476 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is similar in meaning (SYNONYM) to the word given below

Incompatible
Options :

1. # Complementary
2. % Suited

3. ¥ Conlflicting

4. % Coerce
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Question Number : 141 Question Id : 92775911477 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is opposite in meaning (ANTONYM) to the word given below

Benevolent
Options :

1. ¥ Malevolent
2. % Magnanimous
3. % Altruistic

4. ¥ Indulgent

Question Number : 141 Question Id : 92775911477 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is opposite in meaning (ANTONYM) to the word given below

Benevolent
Options :

1. ¥ Malevolent
2. % Magnanimous
3. % Altruistic

4. # Indulgent



Question Number : 142 Question Id : 92775911478 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is similar in meaning (SYNONYM) to the word given below

Hedonist
Options :

1. # Unkind

2. ¥ Gastronome
3. % Ascetic

4. # Sympathetic

Question Number : 142 Question Id : 92775911478 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is similar in meaning (SYNONYM) to the word given below

Hedonist
Options :

1. # Unkind

2. ¥ Gastronome
3. % Ascetic

4. # Sympathetic

Question Number : 143 Question Id : 92775911479 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. # Circuitious

2. % Circuitous

3. # Circitous



4. % Circituous

Question Number : 143 Question Id : 92775911479 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. # Circuitious

2. % Circuitous

3. % Circitous

4. % Circituous

Question Number : 144 Question Id : 92775911480 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. % Perifidious

2. % Perfidous

3. % Perifidous

4. ¥ Perfidious

Question Number : 144 Question Id : 92775911480 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. # Perifidious

2. # Perfidous

3. ® Perifidous

4. ¥ Perfidious



Question Number : 145 Question Id : 92775911481 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. # Adualition

2. % Adalation

3. ¥ Adulition

4. % Adulation

Question Number : 145 Question Id : 92775911481 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. # Adualition

2. % Adalation

3. # Adulition

4. ¥ Adulation

Question Number : 146 Question Id : 92775911482 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. ¥ Anonymous

2. % Anonyomus

3. % Anonoymus

4. % Anonomous

Question Number : 146 Question Id : 92775911482 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. ¥ Anonymous

2. % Anonyomus

3. % Anonoymus

4. % Anonomous

Question Number : 147 Question Id : 92775911483 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. * Congragation

2. ¥ Congregation

3. ¥ Congragaton

4. % Congrugation

Question Number : 147 Question Id : 92775911483 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. # Congragation

2. ¥ Congregation

3. # Congragaton

4. ¥ Congrugation

Question Number : 148 Question Id : 92775911484 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom



A taste of your own medicine

Options :

1. # A dangerous person pretending harmless

2. % A result hat is still unclear and can go either way

3. % A visual presentation is far more descriptive than words

4. ¥ When you are mistreated the same way you mistreat others

Question Number : 148 Question Id : 92775911484 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom

A taste of your own medicine

Options :

1. # A dangerous person pretending harmless

2. % A result hat is still unclear and can go either way

3. % A visual presentation is far more descriptive than words

4. ¥ When you are mistreated the same way you mistreat others

Question Number : 149 Question Id : 92775911485 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom

Back to the drawing board

Options :

1. ¥ Willing to do something immediately
2. % In a backward and forward motion

3. # Having to start all over again

4. ¥ When an attempt fails and it’s time to start all over

Question Number : 149 Question Id : 92775911485 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom

Back to the drawing board

Options :

1. ® Willing to do something immediately
2. % In a backward and forward motion

3. % Having to start all over again

4. ¥ When an attempt fails and it’s time to start all over

Question Number : 150 Question Id : 92775911486 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom

Close but no cigar

Options :

1. #® A situation involving a narrow escape from danger

2. ¥ To be near and almost accomplish a goal, but fall short
3. # To hope that something happens the way you want it to

4. ® Leave out all the unnecessary details and just get to the point

Question Number : 150 Question Id : 92775911486 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom

Close but no cigar

Options :

1. # A situation involving a narrow escape from danger

2. ¥ To be near and almost accomplish a goal, but fall short

3. # To hope that something happens the way you want it to



4. ® Leave out all the unnecessary details and just get to the point

Question Number : 151 Question Id : 92775911487 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom

Drastic times call for drastic measures

Options :

1. ¥ When you are extremely desperate you need to take extremely desperate actions
2. % The show has come to an end. It’s all over

3. # Killing of a certain ethnic or religious group on a massive scale

4. % Be optimistic, even difficult times will lead to better days

Question Number : 151 Question Id : 92775911487 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom

Drastic times call for drastic measures

Options :

1. ¥ When you are extremely desperate you need to take extremely desperate actions
2. # The show has come to an end. It’s all over

3. % Killing of a certain ethnic or religious group on a massive scale

4. ® Be optimistic, even difficult times will lead to better days

Question Number : 152 Question Id : 92775911488 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expressions given below

The sound of Owls
Options :



1. # Croak
2. % Honk
3. # Neigh
4. ¥ Hoot

Question Number : 152 Question Id : 92775911488 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expressions given below

The sound of Owls
Options :

1. # Croak

2. % Honk

3. # Neigh

4. ¥ Hoot

Question Number : 153 Question Id : 92775911489 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expressions given below

Killing of one person by another
Options :

1. ¥ Homicide

2. % Genocide

3. % Filicide

4. % Fratricide

Question Number : 153 Question Id : 92775911489 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expressions given below



Killing of one person by another
Options :

1. ¥ Homicide

2. # Genocide

3. # Filicide

4. # Fratricide

Question Number : 154 Question Id : 92775911490 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expressions given below

A solemn procession, especially for a funeral
Options :

1. ¥ Cortege

2. % Epitaph

3. # Interment

4. # Obituary

Question Number : 154 Question Id : 92775911490 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expressions given below

A solemn procession, especially for a funeral
Options :

1. ¥ Cortege

2. % Epitaph

3. % Interment

4. % QObituary

Question Number : 155 Question Id : 92775911491 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expressions given below

A person who believes in or tries to bring about a state of lawlessness
Options :

1. ®* Cynic

2. % Arsonist

3. ¥ Anarchist

4. % Ascetic

Question Number : 155 Question Id : 92775911491 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expressions given below

A person who believes in or tries to bring about a state of lawlessness
Options :

1. #* Cynic

2. % Arsonist

3. ¥ Anarchist

4. % Ascetic

Sub-Section Number : 2
Sub-Section Id : 927759592
Question Shuffling Allowed : Yes

Question Id : 92775911492 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (156 to 160)

A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four
alternatives

One of South America’s mysteries is Easter Island. Easter Island, also called Rapa Nui and Isla de Pascua, 3,600 km (2,237 mi) west of Chile, is
a volcanic island with an interesting and partly unknown history. The island was named by the Dutch explorer Jacob Roggeveen because he



encountered it on Easter Sunday 1722. He was the first European to find the island. The official name of the island, Isla de Pascua, means Easter
Island in Spanish. This island is famous because of the approximately 887 huge statues which were found there. The statues consist of heads and
complete torsos, the largest of which weighs 84 tons! These monuments, called moai, were carved out of compressed volcanic ash, called tuff,
which was found at a quarry at a place called Rano Raraku. Statues are still being found. Some of the monuments were left only half—carved.
Nobody knows why Rano Raraku was abandoned. It is thought that the statues were carved by the ancestors of the modern Polynesian
inhabitants. But the purpose of the statues and the reason they were abandoned remain mysteries.

Sub questions

Question Number : 156 Question Id : 92775911493 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which continent is the Easter Island situated on?
Options :

1. ¥ South America

2. # Europe

3. # North America

4. # Asia

Question Number : 157 Question Id : 92775911494 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Why was the Island named Easter Island by the Dutch Explorer?
Options :

1. ¥ Because it was discovered on Easter Sunday

2. # Because it was discovered on the festival of Easter

3. % Because it is a volcanic island

4. # Because of its South American heritage

Question Number : 158 Question Id : 92775911495 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the official name of the Island?
Options :

1. # Rapa Nui



2. * Easter Island
3. % Isla de Pascua
4. % Chilean Island

Question Number : 159 Question Id : 92775911496 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage which of the following is statement is incorrect?
Options :

1. % Moai were carved out of tuff.

2. % Moai are found in the a quarry now known as Rano Raraku.

3. ¥ The official name of the Island is Easter Island.

4. # Ttis believed that Moai were carved by Polynesian inhabitants.

Question Number : 160 Question Id : 92775911497 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What are the statues, for which the Easter Island are famous for, are called?
Options :

1. % Polynesians

2. # Tuff

3. % Rano Raraku

4. ¥ Moai

Question Id : 92775911492 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (156 to 160)

A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four
alternatives

One of South America’s mysteries is Easter Island. Easter Island, also called Rapa Nui and Isla de Pascua, 3,600 km (2,237 mi) west of Chile, is
a volcanic island with an interesting and partly unknown history. The island was named by the Dutch explorer Jacob Roggeveen because he

encountered it on Easter Sunday 1722. He was the first European to find the island. The official name of the island, Isla de Pascua, means Easter
Island in Spanish. This island is famous because of the approximately 887 huge statues which were found there. The statues consist of heads and



complete torsos, the largest of which weighs 84 tons! These monuments, called moai, were carved out of compressed volcanic ash, called tuff,
which was found at a quarry at a place called Rano Raraku. Statues are still being found. Some of the monuments were left only half—carved.
Nobody knows why Rano Raraku was abandoned. It is thought that the statues were carved by the ancestors of the modern Polynesian
inhabitants. But the purpose of the statues and the reason they were abandoned remain mysteries.

Sub questions

Question Number : 156 Question Id : 92775911493 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which continent is the Easter Island situated on?
Options :

1. ¥ South America

2. % Europe

3. #* North America

4. % Asia

Question Number : 157 Question Id : 92775911494 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Why was the Island named Easter Island by the Dutch Explorer?
Options :

1. ¥ Because it was discovered on Easter Sunday

2. % Because it was discovered on the festival of Easter

3. % Because it is a volcanic island

4. % Because of its South American heritage

Question Number : 158 Question Id : 92775911495 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the official name of the Island?
Options :

1. ¥ Rapa Nui

2. % Easter Island



3. ¥ Isla de Pascua
4. % Chilean Island

Question Number : 159 Question Id : 92775911496 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage which of the following is statement is incorrect?
Options :

1. % Moai were carved out of tuff.

2. % Moai are found in the a quarry now known as Rano Raraku.

3. ¥ The official name of the Island is Easter Island.

4. # Ttis believed that Moai were carved by Polynesian inhabitants.

Question Number : 160 Question Id : 92775911497 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What are the statues, for which the Easter Island are famous for, are called?

Options :
1. % Polynesians
2. % Tuff
3. ¥ Rano Raraku
4. ¥ Moai

General Hindil
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Group Id : 927759473
Group Maximum Duration : 0
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Group Marks : 20

Is this Group for Examiner? : No
General Hindil

Section Id : 927759499
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Number of Questions to be attempted : 20
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Sub-Section Number : 1

Sub-Section Id : 927759593

Question Shuffling Allowed : Yes

Question Number : 161 Question Id : 92775911498 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafcRed Uy |, IR [ddweul 7 9, 39 fdmed &1 9949 33 ol foT ¢ 98! IfY fawse &1 9f &1 98! fawed 81l
YT + IfId

Options :

1. % gYr3fad
2. % gYIfed
3. ¢ giferd
4. % gy3ffaa

Question Number : 161 Question Id : 92775911498 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



fFufeRad Uy |, IR fadcul 7 9, 39 fdwed &1 994 3 ol fou 71U gt IfY fawse &1 9f &1 I8! fawea g1l
YT + IfId

Options :

1. % gYr3ferd
2. % gyIfad
3. ¢ Qiferd
4. % gy3Qifad

Question Number : 162 Question Id : 92775911499 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFfRad U |, IR fadwel 7 9, 39 fddhed &1 999 &2 o1l fGT U Weg & el Wi fowdve &1 fddwed gl
EERICIEaLll

Options :

1. % TgT + 3AThig

2. ¢ Tg<d + THIal

3. % gl + Bi&

4. % Hgl + 3higl

Question Number : 162 Question Id : 92775911499 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofifed Uy §, IR el # 9, 39 fah ey o1 997 &3 o feT TN Yo & et Y fade &1 faweu 81
AgdThl&l

Options :

1. % TgT + AT

2. ¢ Hexd + Thi&

3. % Hgcdl + HI&T

4. % TgTdl + chial



Question Number : 163 Question Id : 92775911500 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faferiRad Uy &, IR fawedl O 4, 39 faswed &1 o9+ &< 5N QU U Ueg & ol Tt agsiife TH & faurg &1 fawed gl |
PRI

Options :

1. % TG bl Stdr

2. ¥ T B Siid= aTa ST UM d

3. % QRS

4, % g T S gaf

Question Number : 163 Question Id : 92775911500 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafaRad vy 8, IR fosddl T 9, 39 fdeed &1 9a & ol faU T8 Xeq & forT g agsiife Ta™ & faug &1 fasea gl
o

Options :

1. % g &l Shial

2.« TG DI ST ara Srifd HITaH bR

3. % T WG

4. % TG ¥ Sitdr gal

Question Number : 164 Question Id : 92775911501 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fofied vy &, 9R fawed! § 9, 39 fawed &1 997 $X Sl SUWH ¥ 4 Xeg $1 e faded 51|
Options :

1. % HrHTS

2. % 3ffchd




3. ¥ QR
4. % IO«

Question Number : 164 Question Id : 92775911501 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FofRed Uy &, IR fawed! § 9, 39 fawed &1 997 B Sl SUWH 4 4 Xeg $1 e faded 51|
Options :

1. % HrHTS

2. % 3ffchd

3. ¥ G,

4. % YiadTel

Question Number : 165 Question Id : 92775911502 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrafeRad vy 8, IR fawedl 1 9, 39 fdded &1 70 o Sl U U 94 Xeg b1 ol [ddhed 31|
Options :

1. % AR

2. % gAHTA

3. ¥ Y]

4. % 9ER

Question Number : 165 Question Id : 92775911502 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafcRad Uy |, IR fAdeul 7 ¥, 39 fdwed &1 999 B3 ol U0d 9 8§ Weg, & Yol [ddhed ol

Options :

1. % 3R]
2. % qAHTT
3. ¥ YT




4. ® gER

Question Number : 166 Question Id : 92775911503 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

oferiad Uy & IR fosedl & O, 39 fdh ey &1 9u9 B ol 3T 7TV Yeg BT dagd TU T

rd

Options :
1. ¢ Alh
2. % Ay
3. % A
4. % AqMH

Question Number : 166 Question Id : 92775911503 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFfafad vy §, IR fawedl & 1, 39 faewey &1 T &3 N foU 71U Weg &1 dwgd FU gl |

I

Options :
1. ¥ Al
2. % Ay
3. % A
4, % AqMH

Question Number : 167 Question Id : 92775911504 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faferiad Uy & IR fosedl & ¥, 39 fdb ey &1 9g9 &3 ol 3T 7Y Yeg &1 diq U g

5PC



Options :
1. % Yhc
2. % Uq
3.2 WY
4. ¥ U4y

Question Number : 167 Question Id : 92775911504 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fafifad uy |, IR faeddl | 9, 39 [ddhcd &1 98- &2 SNl ST 7TU Weg BT TqH FU Bl
g

Options :

|. % Udhc

2. % Ug

3. % Y

4. U8

Question Number : 168 Question Id : 92775911505 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafeiad uy & IR fawedl & T, 39 ey &1 T &Y S SIS Ve, BT et by 1|
Options :

1. % WA

2. % qdhg

3. % hIYal

4. HAR

Question Number : 168 Question Id : 92775911505 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



foffed uy A, IR foweal A 9, 39 faweu &1 97 &% St SISl Usg BT Tat f[dbea gl
Options :

|, % 3R

2. % qPa

3. % IS

4. HATR

Question Number : 169 Question Id : 92775911506 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad Uy O, aR faswed! & O, 39 fdded &1 999 &< Sl HI¥D T 3T T Usg o AR faRivur & g ara faddbed g |
CEINRIEESEER

Options :

1. % grd1S

2. % gRHT qredh
3. « J=AAIDh
4. % UMD

Question Number : 169 Question Id : 92775911506 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faferiRad Uy &, IR fowedl O T, 39 faded &1 99 &< S DIgedh T faU 7T s & 3UR fa=Iw01 o Ug arell f[ddhed gl
CEIKIERIECSEEE

Options :

1. % gIdIHe

2. % gRAT aradh
3. « GRAAHD
4. % TUIATD




Question Number : 170 Question Id : 92775911507 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafad vy &, IR fowddl 7 9, 39 fdhe &1 99 &3 oY 3T 77U Meg & vafgare) Xee &1 Ta! fawed 78l g |

YRl

Options :

1. % g

2. % 3FAHG
3. ¥ N1

4. % grHT=ITSl

Question Number : 170 Question Id : 92775911507 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed uy &, IR eeal 7 9, 39 fahcd o1 987 & &l 2T W Yo & YTigaT! Weg b1 el [dbed el § |

SRy

Options :

1. ® dgr

2. % 3fRAHG
3. ¥ Sl[H

4. % giAHTRIT

Question Number : 171 Question Id : 92775911508 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed uy A, IR el 7 9, 39 fawcu &1 97 &% ot fAdiA Weg &1 a9 331 faheu g |
faia

Options :
1. % 3{glH




2. ¥ 3xd
3. % HY
4. % 90

Question Number : 171 Question Id : 92775911508 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Frafifead Uy 5, TR fasedl § O, 39 fdd ey &1 999 &3 Gl faed Teg &1 Jad 3] [dhed B
fo-ta

Options :
1. # 3glH
2. ¥ 3gd
3. % Ho
4, % 20l

Question Number : 172 Question Id : 92775911509 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafaRed Uy |, IR [Adeul 7 ¥, 39 I8! f[dmed &1 I9- B3 Sl IR & o7 U Xeg, &l [ddhed Bl |
S N Hf3A 8l

Options :
1. % 3Wg
2. ¥ glg
3. % 3YUg
4. % 3T

Question Number : 172 Question Id : 92775911509 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofeRad Uy & IR fob el & T, 39 I8! fAhed o1 991 B3 S Il & foll U s 1 fdh ey B



o YeT Bl 8l
Options :

1. % 3{4g

2. ¢ g

3. % 3[HY

4. % 3f&T

Question Number : 173 Question Id : 92775911510 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fufafad sy A, IR el § 1, 39 T8} fah e &1 99+ B3 o faT 7T Rieg & et 31 o1 I faweu gl
aRg

Options :
1. % JHHE
2. % HOD
3.¥ 3D
4. % g

Question Number : 173 Question Id : 92775911510 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAofefad uy A, IR fomeal 7 9, 39 I8! faded &1 T &3 SN foTu 77U wreg & Tgt 31 &1 IfId fadweu g1
kg

Options :
1. # YHH
2. % WP
3. ¥ 3D
4. % 7g




Question Number : 174 Question Id : 92775911511 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaRed Uy & IR fawedl § 9, 39 el famed &1 99+ & Sl Rad RIF & o Iugad e &1 el [dhed g |
31efeId BT IS REBR 3 O T TR §

Options :

1. ¢ gH ard
2. % g dTd
3. % HUH A
4. % TS dTel

Question Number : 174 Question Id : 92775911511 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad vy o, TR fawenl § 9, 39 Ua! fawed o1 Ta &3 o Rad =M & i Iuged Usg &1 98 fddweu g |
YR BT e REBR 3 I Uy TRATE g |

Options :

1. ¢ O drd
2. % g A1
3. % HOMH drd
4. % FolA drd

Question Number : 175 Question Id : 92775911512 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad us o, TR fawedl § 9, 39 fawed &1 7o &L Sl Y Ueg &1 Wal fAdhe 7
Options :

1. el

2. % gt

3. % gHdl



4. % Y

Question Number : 175 Question Id : 92775911512 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy o, aR fowedl § 9, 39 fawed &1 999 &3 o Y Vs &1 Ta! [dbed 7
Options :

1.« i

2. % giferdt

3. % gl

4, % YMHI]

Question Number : 176 Question Id : 92775911513 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafefad us §, TR fawenl § 9, 39 fawed &1 7o &L Sl Y Ueg &1 Wal fabea 7
Options :

1. % fggRIM

2. % fgqrimM

3. ¢ g

4. % fgqedm

Question Number : 176 Question Id : 92775911513 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad us o, TR fawedl § 9, 39 fawed &1 70 & Sl Y Ve &1 Gal b 7
Options :

1. % fggRIH

2. % feqmiA

3. ¢ fdgeaH

4. % fgqxH




Question Number : 177 Question Id : 92775911514 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofiad Uy & IR fomeal ° T, 39 ey &1 Ta &1 ot feT TN Wsg & MR e 1 fadheu 78T 81
e

Options :
1. % g9
2.9 S[Td
3. % s
4, % 1007

Question Number : 177 Question Id : 92775911514 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafeiad uy & IR fawedl & T, 39 ey &1 waa o3 Ot fou U Wsg & MR wreg o1 fasbeu 7Y 21
qie

Options :
1. % U9
2. % ST[d
3. % gs
4, % 00T

Question Number : 178 Question Id : 92775911515 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad vy o, TR fawet § 9, 39 fawey &1 7o L S 9ed gfee 1 w0 arel fawed ]

Options :
1. # did



2. % ST
3. % HHU

4. ¥ TMe™

Question Number : 178 Question Id : 92775911515 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy ¥, aR fawedl & 9, 39 fawed &1 999 &3 ©ll Yed gfcd =4 aren fawea 3|

Options :
1. % ¢g
2. % §ITl
3. % P20

4. ¥ MM

Question Number : 179 Question Id : 92775911516 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fofefad uy A, IR foweal 7 9, 39 fah ey &1 97 & Sl Thde- U &1 a9 331 fabeu 5|

Options :

1. % gand
2. % YIqNTol
3. ¢ Il

4. % d8dH

Question Number : 179 Question Id : 92775911516 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFofliad Uy & IR foeedl ° T, 39 Ahey &1 797 B S Thaa ¥U o] Jad 33T [dbea gl

Options :



1. % gdmd
2. % YNl
3. ¢ Ol
4. % TSh

Question Number : 180 Question Id : 92775911517 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

?ﬁ@au&rﬁ,wﬁm@fﬁ@r,wmmwmqw ® ol HIFH U QT T e & TR T Yo Iadh J9-TH BT Ta 33T fadheq
|

Options :

1. % (IQA) e A AT HR fean g |

2. % (I8) Bl gl fae A efer g

3. ¢ (QWRT) HTH H T g |

4. % () YHT A 81 @I g

Question Number : 180 Question Id : 92775911517 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gmﬁfr@?m%rﬁ,%rr{ﬁWﬁ@r,w et T =T B il DI H AT 7Y Woq b TR HAH &Y TT<ieh HaT1H DT e 3707 [debed
|

Options :

|, % (3B HEE PRA AT R fAqTR |

2. % (d8) Hd gl fRm A efer g

3. ¢ (JRRT) HTH Hd T g2 |

4. % () YHHE A I @I |

General Hindi2

Group Number : 10
Group Id : 927759474



Group Maximum Duration : 0

Group Minimum Duration : 120

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No
General Hindi2

Section Id : 927759500

Section Number : 1

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 16

Number of Questions to be attempted : 16

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1

Sub-Section Id : 927759594

Question Shuffling Allowed : Yes

Question Number : 181 Question Id : 92775911518 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafcRed Uy |, IR fadwedl 7 9, 39 fdded &1 999 &3 1) fGT TN 9190 & &1d &1 ol [dwed gl

TH YRSl T W, WAR &
Options :

1. % YHTH JaHHDId

2. ¢ ATHICIP qaHHHId
3. % gdogHG HddTd

4. % TiGTY YdbTa




Question Number : 181 Question Id : 92775911518 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fRufeRad Uy #, IR fAeeal A ¥, 39 faded &1 994 3 o) feTU TN a1 & &1d BT ol fdeed gl |
&1 YOSl &1 A, VAR B

Options :

1. % JUTH gdqHDBId

2. ¢ ABITD TIHHBTE
3. % gdodHG HabTd

4. ® i Ydbra

Question Number : 182 Question Id : 92775911519 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad ve o, TR fawenl § 9, 39 fawed &1 70 &1 S fou T8 ardd & e gl & 9 &1 9ey o1 [dsed g |
I 99 a5 BT

Options :

1. % Hard
2. ¢ Hagrd
3. % fand
4. % fgemd

Question Number : 182 Question Id : 92775911519 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad vy o, TR fawet § 9, 39 fawey &1 7o &3 S fou T8 arey & e gfa & e &1 Ted o1 fdbed g |
39 59 fora 18 gt

Options :




1. % gopard
2.« Yegrd
3. % ey
4. % faemdf

Question Number : 183 Question Id : 92775911520 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifad uy §, IR eeal 7 9, 39 fawcu &1 987 &% ot feT 70 are & fol ugl & Ne &1 9ad 331 faheu 3|

feA-31d UgTS B & BRI a8 YYH 3T !
Options :

1. ¢ WTTIdD
2. % AgdEde
3. % gAEEdd
4. ® IRHIYdH

Question Number : 183 Question Id : 92775911520 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofifed uy &, IR ieedl 7 9, 39 fahcd o1 987 & ot feU 7T are & ol u&f & Ve 1 9ad 331 fabeu g |
feA-3d UgTS HA & HRUT a8 YYH 31T !

Options :

1. ¢ WD
2. % Fgdrds
3. % gATae
4. % IRUIdH

Question Number : 184 Question Id : 92775911521 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



frafafad uy 8, TR fawedl § 9, 39 faswey &1 999 &3 o Y a1 &1 Ted 33T fadhed g |
Options :

1. ¢ HETHRT HT%HH s HelHl db Id|

2. % HEIYRT PHTUhH B3 HigT Ia

3. % HEIYRT BIIshH dgd B3 T e

4. % TEIYRT HIHH I He -l B3|

Question Number : 184 Question Id : 92775911521 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad vy o, TR fawent § 9, 39 fawey &1 T 3 S Y a1 T Ja 3737 fadheu 3|
Options :

1. ¢ HETHRA H1%H FHs HalHl ab I

2. % TEIHRA HT%HH dhs HigT I

3. % HGTHRA HRIHH dgd Bs He T I

4. % AEIHRT HTAHH Il HelHl o3|

Question Number : 185 Question Id : 92775911522 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fufoRad Uy |, IR fadeul 7 ¥, 39 fdwed &1 999 3 I Yol d1a0 He &l f[ddbed gl

T T o 6 98 Sray Tl
Options :

1. % Igod aIR

2. ¢ By IR

3. % UYdrEd dr

4. % IR AR

Question Number : 185 Question Id : 92775911522 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

fFafcRed Uy |, IR fadcul 7 ¥, 39 fdwed &1 999 &3 Il el d1ad He &l f[ddbed gl

T AT T o 9% Sy T
Options :

1. ® ggad I

2. ¢ Ty a1y

3. % Uyardd diig

4. % IR I

Question Number : 186 Question Id : 92775911523 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fafafad uy |, IR faeddl | 9, 39 f[ddhcd &1 9= B3 S Jal a1 He &l [dhed gl |
3 AR faT 3R 98 Rd R I 94 US|

Options :

1. # [qYTardsd a1
2. % IR I

3. % {9

4. ¢ Ggad dI

Question Number : 186 Question Id : 92775911523 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFufRed Uy |, IR fadedl 7 ¥, 39 fdwed &1 999 &3 o1l el d1ad He &l f[ddbed gl
I AR e 3R 98 [ W Y 9 ST

Options :

1. % [qYTardes drag
2. % IRA IR

3. % 0y arey




4. ¢ Igad a1

Question Number : 187 Question Id : 92775911524 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy 4, aR faswedl & 4, 39 fdeed &1 99 o3 Sl faR1H g god aret o1 9el fdsbed 31|
Options :

1. % STURY A g1 31T I X g1 6! T8I e bl g 1 debeiith Ta1 g1

2.« SR A HgT, "3 Id IR T8I I8!, Tg1 qFe (b4l a8 P abai® el gv|"

3. % R A $Hgl 31191 I TR TGI 361 Tg! GFe (b 4T de ! ddaiith ol g

4. % SIURY < HBT 31Tl Id W Te 361 Te| g (4] a8 B dbalb el gl

Question Number : 187 Question Id : 92775911524 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faferiRad Uy &, IR fawedl O ¥, 39 fawed &1 o9+ &< SN faR1 forg god a1 &1 Aat faded gl |
Options :

1. % SR A T TS I TR TG 38! T8I IWe [hat avg P bl el g

2.« HTIRY A Hel, "3ATS I TR T&1 g, T8T gFe [l aRE P db el Tal gii”

3. % HTIRY A HeT 3111 Id TR T8I |12 T§T IFe [l aRE bl db el gl gi|

4. % R 3 FHaT TS I TR TS I8! T81 IW [hdl ave P el gl gri?

Question Number : 188 Question Id : 92775911525 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafaRad vy 9, IR fowedl 4 9, 39 fdded &1 9g- & off [k fag gad 919 &1 Tal fadbed gl
Options :

1. % gg A1 3 arar A1 gd o fhed g gantt 3

2. % gg AT 4 Srar: A g off fhed S gantt 2

3. ¢ ag A1 9 &, AN gd o fhed Sam Tant 7o

4. % gg A q arar - AT gd off fOhed Sam an )



Question Number : 188 Question Id : 92775911525 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy 4, aR fased! & 1, 39 fdeed &1 99 &3 Sl faR1 g god ared o1 9al fdsbed 31|
Options :

1. # gg A7 § srar A g/t frer <= ganft =

2. % gg 01 § &iam: A g/ it firer <= garft =

3. T8 T S, i g 0 fee S aend A

4. % gg A q aran - AT gd off fOhed Sam e )

Question Number : 189 Question Id : 92775911526 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafeiRad us #, IR fasedl # 9, 39 fddhed &1 7= & Sl favm g god 919 &1 Tal fdbed g1
Options :

1. % IS 3 BT S USdl § 37 1Y T B3 ¢al § 351 39 81 WADBL al |

2. % ST A HBT OF USdl 8- 390 814 H i3 &dl 8- 3BT 3% g1y WD dl o]

3. % IS A 8T o USdl 8, 37 g1 A DI <dl 8, 33T, 39 81U WD dl )|

4. ¥ ST A g, "5 USdl 8, 3% 81U | Bls ¢dl g 33T, 9P 81 WA ol |

Question Number : 189 Question Id : 92775911526 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy 4, aR fawed! & 4, 39 fdded &1 99+ &3 ol faR1 g god aret o1 9a! fdwbed 51|
Options :

1. % ST B8 USd § 370 814 § P T § 33T 3P 81 WAHR dl o]

2. % IS A FHT 9H USdT 8- 9% 81U H 5 <al o- 35T 3% 81 WAd al ¢|

3. % IO 9 6T OF USdl 8, 3% 814 H Dl &dl 8, 33T, 37% 81 WAHR dl ]|

4. ¢ TSI 3 BT, "5 TSl 8, 9% 81U H dls adl o] 33T, 37 g1Y WAH dl @]




Question Number : 190 Question Id : 92775911527 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed uy &, IR el 7 9, 39 fahcd &1 987 &3 ot feT U Aieifad o1 9gt 31 ararr fapea g |

3[h T ST HaT 7 T Hl -
Options :

1. % TEdT &) aTd g

2. % YNggH

3. ¢ G 81 1 5T Irefl Bl o TSl @
4. % GERIATEA

Question Number : 190 Question Id : 92775911527 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifad uy A, IR ieeal 7 9, 39 fawcu &1 9g7 &8 & feu 71 Aieifad o1 gt 3 arerr fapea g |

3{h T AT YT = IdT Ml -

Options :

1. % THAT B a1 L1

2. % YFUgH

3. ¢ WS A1 g At Y SR Tl B
4. % GERTATGHI

Question Number : 191 Question Id : 92775911528 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFoffed uy &, IR el 7 9, 39 fahcu o1 987 &3 o feu U Aieifad o1 gt 31 ararr fapea g |

3T HhTH pIc JHM -
Options :

1. % 3fE[0T & Tl Al




2. ¢ U IR T GRI&T R BIaT 8
3. % Y g1 IR SARMT
4. % 3N g GdTa] 9% e S

Question Number : 191 Question Id : 92775911528 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFoffead uy A, IR ieeal 7 9, 39 faweu &1 9g7 &8 ot feu U Aeifad o1 gt 31 arerr fapea g |

30T b i JHM -

Options :

1. % 3G DI Tl AT

2. ¢ U IR T GRI&T R BIaT 8
3. % Y9 g R AR

4. % 3N g GaTa] 9% e S

Question Number : 192 Question Id : 92775911529 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed uy &, IR ieeal 7 9, 39 fahcu &1 987 & o feu 71 Aieifad o1 gt 31 arar fapea g |
HIE! BT AT T & -

Options :

1. ¢ T R g &7 SHBR Bl &
2. % TS & foTq G Ugf fomiaR
3. % SR BHH

4. % IS BT BT 35T URUMH

Question Number : 192 Question Id : 92775911529 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifad uy A, IR deeal 7 9, 39 faweu &1 9g7 &% Ot feT U Aieifad o1 gt 3 arerr fapea g |




HAEL! BT STl Gl © -
Options :

1. ¢ IR g B SHRBR EIdT g
2. % TS & forw 9 U fomIeR
3. % 3{ERT HTH

4. % 3y BT BT 33T UROMH

Question Number : 193 Question Id : 92775911530 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafofad oy & aR fawed # 9, 39 fawed &1 Tg9 &3 ot &t 718 GeTaX &1 Ja! 3 ara fadwe 71
@ U IR U OS -

Options :

R EENIGE]
2. % UdMl

3. % fagig B
4.« QRITYURAT

Question Number : 193 Question Id : 92775911530 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaRed Uy &, R fawedl § 9, 39 fadhed &1 9a &3 ol &1 718 JeTaX &1 Ja! 3 ara fadwed g
P 4T TR G TS -

Options :

1. % ge-=nd g
2. % UFAH

3. % fagig BT
4. ¢ GRITGLRAT



Question Number : 194 Question Id : 92775911531 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafofad oy & aR fawed # 9, 39 fadme &1 7g9 &3 ot &t 718 YeTaX &1 Ja! 3 ara fadwe ]
BT & I 3T -

Options :

1. # dcblcd

2. % WY

3. % YT GIMHAT

4. « 3 YdRT SI[HI

Question Number : 194 Question Id : 92775911531 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaRed Uy &, aR fawedl § 9, 39 fadhed &1 9a &3 ol &1 718 JeTaX &1 Ja! o ara fadwed g
BTl & dld 31 -

Options :

1. % dahld

2. % R YSHI

3. % YET ST

4.« 3T YA Sl

Question Number : 195 Question Id : 92775911532 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafofad oy & o fawed # 9, 39 fadwey &1 7g9 &3 ot &t 718 YeTaX &1 Ja! 3 ara fadwe 71
RR gt TR -

Options :
1. % Il ST




2. % GERIBHI
3. ¢ eIRITadl JHTG §IHT
4. % TG HIY 3T

Question Number : 195 Question Id : 92775911532 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafeiad oy & aR fawedt # 9, 39 fawe &1 Tgd o2 ot &Y 718 GeTa &1 Ja! 3 arer faswea §1
RR A Tt TR -

Options :

I ANICIRCICI

2. % HERIGHI

3. ¢ Hg-TRITeTd] SHIw BT

4. % TG HIY 3T

Sub-Section Number : 2

Sub-Section Id : 927759595
Question Shuffling Allowed : Yes

Question Id : 92775911533 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (196 to 200)

T foU T TR % 91 5 U AU TR €| S TN ) Yd e Ue R IR fadmed! H U TS Uy BT Farad SR g |

3AR®T & SISt aTiRiTTed Hal off Xg A AN H 3814 ol foh &l Avlgr ddbal &1 U 751 Bd IR I&M BT Tad PR 35 A Ahal Bl
ST YR} T, &F 3t I ST B 78T 33T U1 IR ) Toh T Ao Aidhe W1 3= H1 Seg] A BT ST ¢ T Ul IS a8 Sarit
SR B! U b IS H I7eh! HGTIdT BT, il B T8l 81 STl AR - Teheh I SHTGH!  HUG 1 1Y G & el 31
3MTeH G bR Slietl, “H SRIHTE B aTell FRled §, Aeig el aTfkivie = WU 3 JeTehr HulgRl & Hag &l dbg! &l 51 &d W
ugd T ) SiTd GHY Sl aIfRTe = HRGRISR FR1a® I e, “P1s SR B o1, 0 Jo goil o1 H TolgR 8] &1 3§11 a1l §, 59
SISt aTRiTTe ®gd /) $a-1 g1 UT fb fAteres Aeiaa & Uld aa &1 e Raue 15| a8 fcdd fa=Hdn ¥ &1 A | 39 UhR Hfad
& HeMaT Hgd 3R Wiade- H g

Sub questions




Question Number : 196 Question Id : 92775911534 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

eIy B Srfes} YU Sift TfiTe o WREd 9T T 32
Options :

1. # TSR] &) HTH B S/

2. % TIgR! & Sleg] BT HRA B Fegl &A1

3. % U 31U DI SHRDT BT AFU FATT

4. ¢ HTH B gUHGIGR] P TG DAl

Question Number : 197 Question Id : 92775911535 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AVIGR Sl B HR g A 98 STea] 3R M H &d gl Si1ar?
Options :

1. % 9§ q 3Rt aFTl ! Tt ard

2. % q 3% SUIG1 dd- D1 dlerd [T Sl

3. ¥ 94 ARigrd W9 TeigRl &t S T FgrId HRdl

4. % Sq GAGRI ¥ HSTs U HTH HRATIT STl

Question Number : 198 Question Id : 92775911536 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TG o TUR Afad DI HGHT [haH g2
Options :

1. % CRIWM QA HH YA A

2. % IR Bl B B & A SHAH A

3. ¢ TEd 3R Wigded &

4, % Gd YRT Y9 HAA o

Question Number : 199 Question Id : 92775911537 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

3T 9 DI - I1 2" 1 AT Weg 7Y 82
Options :

1. ¢ fqeid

2. % dehld

3. % cUc

4. % Sedl

Question Number : 200 Question Id : 92775911538 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3 IVE BT P IuYF :
Options :

1. % oIl BT BRI

2. ¢ Sl AIRRTe & HgHdT

3. % UM &1

4. % bl H Thdl

Question Id : 92775911533 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (196 to 200)

i fou M e o 91 5 Uy AU T B | 39 IR ) ATHYad g 3R dR fawedl § ¥ Udd Uy &1 9araH SR I |

AR & SifSt aTiRiTTed dal off Xg A AN J 31 < &5 & AAGR AP BT UG 5T B IR TG BT e PR Ve | AhS! Pl
TSI YIRT AT, &1 STeHT I ST I 781 3371 U1 g 3| Udh dRRT Ao e WSl 38 DI Sleg! B DI MG ¢ 38T Y| Ife; a8 STat
TR P UL Ah el I3 H 31! YgTadl ddl, ﬁmmaW|Wmﬁwwm%na@wwaéﬁ$mw\
TEH TAHHR S, “H GEHTA HRA aTdl FRIED §, HolgR a1 dIiRiTe - W 3T 9eIdHR Avigy] B 7GG | Adbe! &1 151 8d IR
Hﬁ%mwmﬁwwﬁaﬁﬂmﬁwﬁﬂwﬁw DIs AR BT B, Al G2 el o1 H TGR gl o1 1 A8l g, Gl
SIS aTRATe Bad /) 31 1 U1 o Fterss Heicy & Ula ad &t eRcl 9 78| 98 3fcdd fa9ar ¥ &1 HiH @) 39 YR Hfad
D1 AT AgTd 3R Wade- | g

Sub questions




Question Number : 196 Question Id : 92775911534 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Trerier B Sifkes} yufa Sifet aTfiTe &t o wgd 5T T 32
Options :

1. % TG ! BTH HA ol

2. % TR Pl Seg] B B BT G &A1

3. % U 31U D! SHRDT BT APUFC T

4. ¥ BT HA §U HVIGR! DI TG DRl

Question Number : 197 Question Id : 92775911535 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TG ol BT IR I A T8 Sleal 3R ST A 6d gl ST
Options :

1. % 9§ q 3Rt aFTl ! Tt ard

2. % q 3% SUIGI A+ D1 dlerd a1 Sl

3. ¢ 94 fARigrd W TeigRl &t S T FgrRId HRdl

4. % Jq AYIGR] I HeTs § HIH HRAMT SITd]

Question Number : 198 Question Id : 92775911536 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TG o IR HAfad DI AT [haH g2
Options :

1. % R R P HE A G H

2. % QIR Bl B B & o IHAH A

3. ¢ TEd 3R Wigded &

4. % G IRT 4 HHA H

Question Number : 199 Question Id : 92775911537 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
T8 A P - 1 20 BT AR Teg TR 72
Options :

1. ¢ fqeid

2. ® bl

3. ® gcuc

4. % Sed

Question Number : 200 Question Id : 92775911538 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 3IDS BT B IUGed 2N

Options :

1. % TRl BT R

2. STl IIfRATe St UMl
3. % M SR

4. % 3Gl H Thdl




